
CHEMISTRY

BOOKS - BRILLIANT PUBLICATION

GENERAL PRINCIPLES AND PROCESSES OF ISOLATION

OF ELEMENTS

Level I Homework

1. A mineral is called ore if:

A. the metal present in the mineral is costly

B. a metal can be extracted from it

C. a metal can be extracted profitably from it

D. a metal can be extracted by tedious process

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qvvAdhXcFeqt


Answer:

Watch Video Solution

2. The impurities present in the mineral are called:

A. flux

B. gangue

C. alloy

D. slag

Answer:

Watch Video Solution

3. The most abundant metal in the earth crust is:

https://dl.doubtnut.com/l/_qvvAdhXcFeqt
https://dl.doubtnut.com/l/_IVUzXqI9ZiTj
https://dl.doubtnut.com/l/_3tZpP3OPjPpF


A. Iron

B. Calcium

C. Sodium

D. Aluminium

Answer:

Watch Video Solution

4. Kaolinite is a silicate ore of:

A. AI

B. Fe

C. Zn

D. Cu

Answer:

https://dl.doubtnut.com/l/_3tZpP3OPjPpF
https://dl.doubtnut.com/l/_KJtpS1Q4Ow1q


Watch Video Solution

5. Gravity separation is based on:

A. different solubilities of ore and gangue

B. different densities of ore and gangue

C. different lusture of ore and gangue

D. different electrical conductivity of ore and gangue

Answer:

Watch Video Solution

6. Which of the following statement is false?

A. During roasting moisture is removed

B. During calcination ore as well as gangue is oxidised

https://dl.doubtnut.com/l/_KJtpS1Q4Ow1q
https://dl.doubtnut.com/l/_TFncvyw9L50c
https://dl.doubtnut.com/l/_rnQCqz5gVJLT


C. During roasting ore is heated just below the melting point of

ore

D. Calcination is carried out in reverberatory furnace

Answer:

Watch Video Solution

7. Which one of the following statements is wrong?

A. A. Ellingham diagram normally consists of plots of  Vs T

for formation of oxides of elements

B. B. In Ellingham diagram there is a point in a curve below which

 is -ve and above this point the oxide of element decompose

on its own

C. C. Ellingham diagram is restricted to oxides of elements

ΔrG
∘

ΔG

https://dl.doubtnut.com/l/_rnQCqz5gVJLT
https://dl.doubtnut.com/l/_jlOdEnvP1tuF


D. D. The temperature corresponding to the turning points on

 Vs T graph in Ellingham diagram will be either melting

point or boiling point

Answer:

Watch Video Solution

ΔfG
∘

8. At 500-800 K, lower temperature range in the blast furnace, which

of the following reaction is not occured?

A. 

B. 

C. 

D. 

Answer:

3Fe2O3 + CO → 2Fe3O4 + CO2

Fe2O3 + CO → 2FeO + CO2

FeO + C → Fe + CO

Fe3O4 + 4CO → 3Fe + 4CO2

https://dl.doubtnut.com/l/_jlOdEnvP1tuF
https://dl.doubtnut.com/l/_V8eknaElQC2E


Watch Video Solution

9. The iron obtained from blast furnace contains about

A. 0.5% carbon

B. 4% carbon

C. 1.5% carbon

D. 0.15% carbon

Answer:

Watch Video Solution

10. In Ellingham diagram the graph of  Vs T for-the formation of

oxide of copper is almost at the top. So it is quite to reduce oxide ore

of Cu at any temperature by : A. Carbon,
 B. Carbon monoxide,
 C. Silver,

D. Mercury

ΔfG
∘

https://dl.doubtnut.com/l/_V8eknaElQC2E
https://dl.doubtnut.com/l/_S1EhXLy86z4d
https://dl.doubtnut.com/l/_W1kSXm7s6pS5


A. A. Carbon

B. B. Carbon monoxide

C. C. Silver

D. D. Mercury

Answer:

Watch Video Solution

11. During the extraction copper by bessemersiation, bessemer

converter is lined inside with

A. lime stone

B. calcined dolomite

C. silica

D. bone ash

https://dl.doubtnut.com/l/_W1kSXm7s6pS5
https://dl.doubtnut.com/l/_BY4rP6Jp1wTH


Answer:

Watch Video Solution

12. Aluminium is extracted by

A. Halls' process

B. Hall-Heroult's process

C. Bayer's process

D. Hoop's process

Answer:

Watch Video Solution

13. In Hail-Heroult's process of extraction of Al, purified  is mixed

with  and  in order to

Al2O3

Na3AlF6 CaF2

https://dl.doubtnut.com/l/_BY4rP6Jp1wTH
https://dl.doubtnut.com/l/_y75ZrZIXvhG8
https://dl.doubtnut.com/l/_AICArErINhde


A. decrease conductivity and increase the melting point

B. prevent loss of heat from electrolyte by radiation

C. increase the conductivity and decrease the melting point

D. decrease the fluidity of electrolyte

Answer:

Watch Video Solution

14. Which of the following metal can be extracted by hydrometallurgy?

A. Cu

B. Ag

C. Au

D. All

Answer:

https://dl.doubtnut.com/l/_AICArErINhde
https://dl.doubtnut.com/l/_j5DOl0BOsGpz


Watch Video Solution

15. During the extraction of chlorine gas by the electrolysis of brine

solution, at the end of electrolysis the electrolyte solution become-

A. A. acidic

B. B. basic

C. C. neutral

D. D. acidic or basic

Answer:

Watch Video Solution

16. In the extraction of gold and silver by cyanide process, scrap

zinc/zinc shavings used, is act as

https://dl.doubtnut.com/l/_j5DOl0BOsGpz
https://dl.doubtnut.com/l/_UwzlTXuIkAdM
https://dl.doubtnut.com/l/_c9evx2g3HKsY


A. Oxidising agent

B. emulsifying agent

C. reducing agent

D. flux

Answer:

Watch Video Solution

17. Distillation is used for the refining of

A. metals having low melting point

B. metals having high melting point

C. volatile metals

D. metals having low melting point and high boiling point

Answer:

https://dl.doubtnut.com/l/_c9evx2g3HKsY
https://dl.doubtnut.com/l/_iHqYfaCAejIF


Watch Video Solution

18. Liquation is expecially best method for the refining of impure

A. Fe

B. Sn

C. Au

D. Ti

Answer:

Watch Video Solution

19. During electrorefining, anode used is made of

A. thick block of impure metal

B. thin sheet of pure metal which is to be refined

https://dl.doubtnut.com/l/_iHqYfaCAejIF
https://dl.doubtnut.com/l/_ymYK8qpqzNN4
https://dl.doubtnut.com/l/_htrmA6Drabbr


C. graphite rods

D. platinum rod

Answer:

Watch Video Solution

20. Which of the following metal can be refined by distillation as well

as electrolysis?

A. Al

B. Cu

C. Zn

D. Sn

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_htrmA6Drabbr
https://dl.doubtnut.com/l/_0YXoIZul2CLI


21. Which is false about zone refining?

A. A. it is especially used for the refining of metals used in semi

conducting devices

B. B. it is based on the principle that the impurities are more

soluble in the melt than in the solid state of the metal

C. C. Impure silicon, germanium, boron etc are refined by this

method

D. D. During zone refining impurities move to the opposite

direction of moving heater

Answer:

Watch Video Solution

22. Both Mond's process and van Arkel process are called:

https://dl.doubtnut.com/l/_zVEkN4Y4vhHS
https://dl.doubtnut.com/l/_Jl0IulXv5O3N


A. A. vapour phase refining

B. B. fractional crystallising

C. C. fractional freezing

D. D. All

Answer:

Watch Video Solution

23. Lanthanoid metals are refined by:

A. A. Zone refining

B. B. van Arkel method

C. C. Mond's process

D. D. Column chromatography

Answer:

https://dl.doubtnut.com/l/_Jl0IulXv5O3N
https://dl.doubtnut.com/l/_3ugVqZvVqHgL


Watch Video Solution

24. Match the following: 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

I → d, ii → b, iii → c, iv → a, v → a

I → c, ii → d, iii → e, iv → b, v → a

I → d, ii → c, iiii → e, iv → b, v → a

I → a, ii → b, iii → e, iv → c, v → d

https://dl.doubtnut.com/l/_3ugVqZvVqHgL
https://dl.doubtnut.com/l/_9ezO1ejWLeTG


Level I Homework Assertion Reason

1. Assertion: Dressing of ore is an essential step in metal extraction 

Reason: Dressing of ore is done to improve the physical appearance of

ore

A. If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_fvniDIYfztxd


2. Assertion: If pure haematite is used as an ore for iron extraction,

there is no need of roasting 

Reason: In the extraction of iron, final product in roasting is 

A. If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

Fe2O3

3. Assertion: In the extraction of Ag, the complex  is

treated with Zn. 

Na[Ag(CN)2]

https://dl.doubtnut.com/l/_UKNEBE17N5d3
https://dl.doubtnut.com/l/_qp3pM7a0W1eP


Reason: Zn is a d block metal

A. If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

4. Assertion: Through out electrorefining process, the concentration

of electrolyte remains constant. 

Reason: At a particular instant as much the metal atom from anode

https://dl.doubtnut.com/l/_qp3pM7a0W1eP
https://dl.doubtnut.com/l/_lWyeA9gd6YOv


gets dissolved into electrolyte, the same number of metal ions get

deposited at the cathode.

A. If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

5. Assertion: All amalgams are alloys. 

Reason: All alloys are not amalgams

https://dl.doubtnut.com/l/_lWyeA9gd6YOv
https://dl.doubtnut.com/l/_tJEKJE6rkXlf


Level Ii

A. If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

1. Which of the following statements are true? 

i) Elements which are least reactive occur in free state or native state 

ii) Earthly or undesired materials present along with ore are called

gangue 

https://dl.doubtnut.com/l/_tJEKJE6rkXlf
https://dl.doubtnut.com/l/_gQfDg5u9fShI


iii) Among metals, aluminium is the most abundant in the earth crust 

iv) All ores are minerals but all minerals are not ores 

v) Gemstone "Ruby" is the impure form of  containing impurity :

Co 

vi) The set of d-block elements Cu, Ag, Au mostly occur as sulphide ore

A. All are true

B. All except V are true

C. All except (v) and (vi) are true

D. All except VI are true

Answer:

Watch Video Solution

Al2O3

2. Which is not a carbonate ore?

A. Siderite

https://dl.doubtnut.com/l/_gQfDg5u9fShI
https://dl.doubtnut.com/l/_RjdKlTrKp4by


B. Azurite

C. Calamine

D. Pyrolusite

Answer:

Watch Video Solution

3. Gravity separation or Levigation is most commonly used ore

concentration method for

A. Sulphide ore

B. Oxide ore

C. Sulphate ore

D. Halide ore

Answer:

https://dl.doubtnut.com/l/_RjdKlTrKp4by
https://dl.doubtnut.com/l/_Sp0JxxW1su4X


Watch Video Solution

4. A mixture of chromite and cassiterite can be successfully separated

by:

A. A. Gravity separation

B. B. Hydraulic washing

C. C. Magnetic separation

D. D. Tabling

Answer:

Watch Video Solution

5. Which of the following is false?

https://dl.doubtnut.com/l/_Sp0JxxW1su4X
https://dl.doubtnut.com/l/_Q8oeNIpYnf4a
https://dl.doubtnut.com/l/_s6hCZCvCfHU3


A. A. Floatation process is used for removing gangue from

sulphide ore

B. B. Aniline or cresol is used as stabilizer in floataion process

C. C. In floatation process, the role of collector is to increase

interfacial tension between oil and sulphide ore

D. D. Argentite is a sulphide ore, however floatation process is not

a best separation method

Answer:

Watch Video Solution

6. In the leaching of impure bauxite, precipitation of aluminium

hydroxide by hydrolysis is not advisable because,

A. A. Precipitation may not quantitative

https://dl.doubtnut.com/l/_s6hCZCvCfHU3
https://dl.doubtnut.com/l/_ARRrcu1toO3e


B. B. It will difficult to convert aluminium hydroxide into anhydrous

alumina

C. C. Silicic acid is also precipitated which in turn converted into

D. D. Alumina obtained will be hydrated which cannot be made

anhydrous

Answer:

Watch Video Solution

SiO2

7. Which of the following statements are wrong? 

i) Calcination is mainly used for carbonate ore to get its oxide 

ii) Hydrated ore and hydroxides become anhydrous by calcination 

iii) Impurities like S, As and Sb are removed in the form of elemental

vapours by calcination 

iv) Roasting is an endothermic process 

https://dl.doubtnut.com/l/_ARRrcu1toO3e
https://dl.doubtnut.com/l/_Pwy4YluaHH3x


v) Roasting is mainly applicable for sulphide ore to get its oxide 

vi) Some times as a result of roasting, higher oxidation state oxide

gets converted into lower oxidation state oxide.

A. only iv is wrong

B. only vi is wrong

C. iii, iv and vi are wrong

D. iv and vi are wrong

Answer:

Watch Video Solution

8. Roasting and calcination are usually carried out in,

A. blast furnace

B. muffle furnace

C. reverberatory furnace

https://dl.doubtnut.com/l/_Pwy4YluaHH3x
https://dl.doubtnut.com/l/_XeudhC8uxpPk


D. retorts

Answer:

Watch Video Solution

9. Which of the following statements is wrong?

A. A. smelting is the process where in an oxide is added to

concentrated ore to combine with other impurities

B. B. During roasting, reduction of ore into metal must to takes

place

C. C.  etc are used as acidic fluxes during smelting.

D. D. FeO, CaO, MnO etc are basic flux used during smelting.

Answer:

Watch Video Solution

SiO2, P2O5

https://dl.doubtnut.com/l/_XeudhC8uxpPk
https://dl.doubtnut.com/l/_BJWtWHk6vcup


10. Select the correct statement:

A. In the decomposition of an oxide of metal into oxygen and

metal in vapour phase, entropy increases

B. Decomposition of an oxide is endothermic change

C. To make  - ve temperature should be high enough so that 

D. All are correct statements

Answer:

Watch Video Solution

ΔrG
∘

TΔS ∘ > ΔH ∘

11. Which of the following statements about Ellingham diagram are

true? 

i) Ellingham diagram normally consists of plots of  Vs T forΔfG
∘

https://dl.doubtnut.com/l/_BJWtWHk6vcup
https://dl.doubtnut.com/l/_X7RKzopGEpqn
https://dl.doubtnut.com/l/_nhQYC4OjOKhi


formation of oxides of elements 

(ii) Each plot will be straight lines at all temperatures 

iii) There is a point in a curve below which  is -ve and above this

point the oxide decompose its own 

iv) Ellingham diagram is restricted to metal oxides 

v) Ellingham diagram does not say about kinetics of the reduction

process 

vi) Ellingham diagram presumes that the reactants and products are

in equilibrium

A. A. All are true

B. AII except iv are true

C. C. All except iv and vi are true

D. D. All except iv are true

Answer:

Watch Video Solution

ΔG

https://dl.doubtnut.com/l/_nhQYC4OjOKhi
https://dl.doubtnut.com/l/_vQaGeZfcUXXw


12. The materials which are added along with the calcinated iron ore

into the blast furnace in the extraction of iron from haematite ore are

A. A. Coke and silica

B. B. Coke and borax

C. C. Coke and lime stone

D. D. Lime stone and silica

Answer:

Watch Video Solution

13. Which of the following statements is false?

A. The most impure iron obtained from blast furnace is called pig

iron

https://dl.doubtnut.com/l/_vQaGeZfcUXXw
https://dl.doubtnut.com/l/_t6GHFtBNyG25


B. Cast iron is prepared by melting pig iron with scrap iron and

coke

C. The blast furnace used for the extraction of iron is lined inside

with calcined dolomite

D. Wrought iron or malleable iron, the purest form of commercial

iron is produced by puddling process

Answer:

Watch Video Solution

14. From copper pyrite, copper is extracted in two stages. In the

reverberatory furnace which of the following reaction not occur?

A. A. 

B. B. 

C. C. 

2CuFeS2 + 4O2 → Cu2S + 2FeO + 3SO2

FeO + SiO2 → FeSiO3

Cu2O + FeS → Cu2S + FeO

https://dl.doubtnut.com/l/_t6GHFtBNyG25
https://dl.doubtnut.com/l/_L5Aj8KiTUUuR


D. D. 

Answer:

Watch Video Solution

Cu2S + 2Cu2O → 6Cu + SO2

15. During the extraction copper by bessemersiation, bessemer

converter is lined inside with

A. CaO

B. 

C. FeO

D. MgO

Answer:

Watch Video Solution

SiO2

https://dl.doubtnut.com/l/_L5Aj8KiTUUuR
https://dl.doubtnut.com/l/_BLSiCTTvLQk9
https://dl.doubtnut.com/l/_75OhboMnxthV


16. In the extraction of zinc, during roasting the temperature is kept

above 850°C and air current must be controlled because:-

A. A. Impurities present will be oxidised and interfere in the

reduction

B. B. Zinc sulphide will converted in to  which converts back

into ZnS during carbon reduction

C. C. In fact roasting is done in controlled supply of air

D. D. Since the roasting is exothermic, temperature inside the

converter is to be controlled

Answer:

Watch Video Solution

ZnSO4

17. In thermite reduction Al is chosen as reducing agent because,

https://dl.doubtnut.com/l/_75OhboMnxthV
https://dl.doubtnut.com/l/_Sf3JryoZhlQr


A. A. aluminium has low melting point

B. B. aluminium has low density

C. C. aluminium has very high affinity for oxygen and formation of

 is endothermic

D. D. aluminium has very high affinity for oxygen and formation of

 is highly exothermic

Answer:

Watch Video Solution

Al2O3

Al2O3

18. In thermite reduction, ignition mixture consists of

A. A.  and 

B. B. Mg powder and 

C. C. Magnesium powder and 

Fe2O3 KClO3

Fe2O3

KClO3

https://dl.doubtnut.com/l/_Sf3JryoZhlQr
https://dl.doubtnut.com/l/_bFT42IOpQHzD


D. D.  and 

Answer:

Watch Video Solution

KClO3 BaO2

19. In hydrometallurgy, sometimes a flux is added,

A. A. to keep the charge in liquid state

B. B. to increase the conductivity

C. C. to increase the melting point

D. D. to remove impurities as slag

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bFT42IOpQHzD
https://dl.doubtnut.com/l/_jawdQx5LbZNx


20. In the proces of extraction of gold, 

Roasted ore +  


 


[X] and [Y] respectively are:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CN − + H2O
O2

−−→ [X] + OH −

[X] + Zn → [Y ] + Au

X = [Au(CN)2]
−

, Y = [Zn(CN)4]
2 −

X = [Au(CN)4]
3 −

, Y = [Zn(CN)4]
2 −

X = [Au(CN)2]
−

, Y = [Zn(CN)6]
3 −

X = [Au(CN)4]
−

, Y = [Zn(CN)4]
2 −

21. In the extraction of Al by Hall-Heroult's process, electrolyte

contains  and . However only Al is discharged at

cathode because,

Na+ , Ca2 + Al3 +

https://dl.doubtnut.com/l/_aRcaz2K4ZTyO
https://dl.doubtnut.com/l/_49xgw9rAupDU


A.  ions have higher oxidation potential and discharge

potential than  and 

B.  ions have higher reduction potential and lower discharge

potential than  and 

C.  ions have high reduction potential and discharge

potential than  and 

D.  ions have lower reduction potential and discharge

potential than and 

Answer:

Watch Video Solution

Al3 +

Na+ Ca2 +

Al3 +

Na+ Ca2 +

Al3 +

Na+ Ca2 +

Al3 +

Na+ Ca2 +

22. Which is not true about electrolysis of "brine solution"?

https://dl.doubtnut.com/l/_49xgw9rAupDU
https://dl.doubtnut.com/l/_mkgcs0fTvnpE


A. A. It is one of the method used for large scale production of

chlorine

B. B. The  for the reaction +ve

C. C. Resultant electrolytic solution will be acidic in nature

D. D. The external emf required is less than 2.2 eV

Answer:

Watch Video Solution

ΔG0

23. Hoop's processes is used for the refining of:

A. Impure copper

B. Impure aluminium

C. Impure zinc

D. Impure silver

https://dl.doubtnut.com/l/_mkgcs0fTvnpE
https://dl.doubtnut.com/l/_D92D6OSGFEB0


Answer:

Watch Video Solution

24. In the electrorefining of impure aluminium, molten  is not

used as electrolyte because : Its melting point is very high,
 pure

aluminium formed dissolved into molten ,
 it sublimes easily and

is poor conductor due to covalent in nature,
both 1 and 2

A. Its melting point is very high

B. pure aluminium formed dissolved into molten 

C. X sublimes easily and is poor conductor due to covalent in

nature

D. both 1 and 2

Answer:

Watch Video Solution

AICI3

AlCl3

AlCl3

https://dl.doubtnut.com/l/_D92D6OSGFEB0
https://dl.doubtnut.com/l/_4WMJp5fII6DT


25. Which of the following statement is false?

A. A. Impure zinc can be refined by distillation

B. B. Impure zinc can be refined by electro refining

C. C. Zone refining is used for the refining of Boron, Silicon,

Germanium, Gallium etc

D. D. In the electro refining of impure copper, the electrolyte used

is dil. 

Answer:

Watch Video Solution

H2SO4

26. Lanthanoid metals can be separated by:

A. A. Chromatography

https://dl.doubtnut.com/l/_4WMJp5fII6DT
https://dl.doubtnut.com/l/_TnDV65gWV4zn
https://dl.doubtnut.com/l/_Gkw8hXbXq5mO


B. B. Distillation

C. C. liquation

D. D. All of the above

Answer:

Watch Video Solution

27. Which of the following is incorrectly matched:

A. A. Magnalium - Containing magnesium and aluminium and used

for making balances

B. B. Bell metal- Containing Cu and Tin

C. C. Dutch metal - Alloy of Cu and Sn

D. D. Constantain - Alloy of Cu and Ni

Answer:

https://dl.doubtnut.com/l/_Gkw8hXbXq5mO
https://dl.doubtnut.com/l/_jzfX9rnleWHj


Level Ii Assertion Reason

Watch Video Solution

1. Assertion: If pure haematite is used as an ore for iron extraction,

there is no need of roasting 

Reason: In the extraction of iron, final product in roasting is 

A. If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

Fe2O3

https://dl.doubtnut.com/l/_jzfX9rnleWHj
https://dl.doubtnut.com/l/_QHDj65uKKS8R


2. Is it ture under certain conditions Mg can reduce  and Al can

reduce ? What are the conditions?

A. If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

Al2O3

MgO

https://dl.doubtnut.com/l/_QHDj65uKKS8R
https://dl.doubtnut.com/l/_IWamojrIVH41


3. Assertion: Elements present in anode mud of an electrolytic refining

process has higher oxidation potential as compared to that of metal

to be refined. 

Reason: Impurities having higher oxidation potential as compared to

metal to be refined get reduced during electro refining.

A. If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_j8Psyb4MZMZx


4. Assertion: Carbon is a good reducing agent for oxides, while poor

reducing agent for sulphide. 

Reason: The slope of  Vs T line of  is positive and of  is

negative.

A. A.If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

ΔfG
∘ CO2 CS2

https://dl.doubtnut.com/l/_u4wpi6BhSGET


Level I

5. Assertion: Oxides of highly electro positive metals cannot be

reduced by carbon. 

Reason: Highly electro positive metals react with carbon to form

carbides.

A. If both Assertion & Reason are true and the Reason is the

correct explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_DfyLPNoy0dSv


1. Which is not a mineral of aluminium?

A. Corundum

B. Anhydrite

C. Diaspore

D. Bauxite

Answer: B

Watch Video Solution

2. Metal which can be extracted from all the three dolomite,

magnesite and carnallite is

A. Na

B. K

C. Mg

https://dl.doubtnut.com/l/_QQCIQ75tinGh
https://dl.doubtnut.com/l/_MDFzTuTmSCan


D. Ca

Answer: C

Watch Video Solution

3. The method of concentrating the ore which makes use of the

difference in density between ore and impurities is called

A. leaching

B. liquation

C. levigation

D. magnetic separation

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_MDFzTuTmSCan
https://dl.doubtnut.com/l/_Mq2AbHQrvIh0
https://dl.doubtnut.com/l/_bDZY8qDK52KS


4. In metallurgy, flux is a substance used to convert

A. soluble impurities to insoluble impurities

B. infusible impurities to fusible material

C. fusible impurities to infusible impurities

D. mineral into silicate

Answer: B

Watch Video Solution

5. Electrolytic refining is used to purify which of the following metals?

A. Cu and Zn

B. Ge and Si

C. Zr and Ti

D. Zn and Hg

https://dl.doubtnut.com/l/_bDZY8qDK52KS
https://dl.doubtnut.com/l/_huX2XqqdjTML


Answer: A

Watch Video Solution

6. Wolframite ore is separated from tin stone ore by the process,

called

A. calcination

B. electromagnetic separation

C. roasting

D. smelting

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_huX2XqqdjTML
https://dl.doubtnut.com/l/_o2uhCMMDRJsO


7. During electrolytic refining of copper, some metals present as

inpurity settle as 'anode mud'. These are -

A. Fe and Ni

B. Ag and Au

C. Pb and Zn

D. Se and Ag

Answer: B

Watch Video Solution

8. In the extraction of copper from its sulphide ore, the metal is finally

obtained by the reduction of cuprous oxide with :

A. carbon monoxide

B. copper (I) sulphide

https://dl.doubtnut.com/l/_A48ciMIjxVcQ
https://dl.doubtnut.com/l/_WrBBGvGxtLqY


C. sulphur dioxide

D. iron (II) sulphide

Answer: B

Watch Video Solution

9. Beneficiation means

A. to treat the metal oxide with carbon monoxide

B. to concentrate or remove impurities from an ore

C. to derive benefits from the ore

D. to heat the ore in presence of oxygen

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WrBBGvGxtLqY
https://dl.doubtnut.com/l/_XWocQKUrFExs
https://dl.doubtnut.com/l/_FW92B6S5RopM


10. Which one of the following ores is best concentrated by froth

floatation method?

A. Magnetite

B. Malachite

C. Galena

D. Cassiterite

Answer: C

Watch Video Solution

11. In the isolation of metals, calcination process usually results in the

formation of

A. metal carbonate

B. metal oxide

https://dl.doubtnut.com/l/_FW92B6S5RopM
https://dl.doubtnut.com/l/_bmDe2FVmr9yl


C. metal sulphide

D. metal hydroxide

Answer: B

Watch Video Solution

12. Iron ore is reduced to iron by reaction with

A. calcium carbonate

B. carbon

C. carbon monoxide

D. carbon dioxide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bmDe2FVmr9yl
https://dl.doubtnut.com/l/_0tgoNb2o20e9
https://dl.doubtnut.com/l/_kTXi08LDbk8v


13. Calcination is used in metallurgy for removal of

A. water and sulphide

B.  and 

C.  and 

D. water and 

Answer: D

Watch Video Solution

CO2 H2S

H2O H2S

CO2

14. In order to refine 'blister copper’it is melted in a furnace and is

stirred with green logs of wood. The purpose is

A. to expel the dissolved gases in blister copper

B. to bring the impurities to surface and oxidize them

C. to increase the carbon content of copper

https://dl.doubtnut.com/l/_kTXi08LDbk8v
https://dl.doubtnut.com/l/_PPJUrekZ4Sdk


D. to reduce the metallic oxide impurities with hydrocarbon gases

liberated from the wood.

Answer: D

Watch Video Solution

15. Commercially, aluminium is obtained from purified aluminium

oxide by

A. electrolysis of aqueous 

B. electrolysis of aqueous 

C. electrolysis of a fused mixture of  and 

D. reduction with coke at high temperatures

Answer: C

Watch Video Solution

Al2(SO4)3

KAI(SO4)2

Al2O3 Na3AlF6

https://dl.doubtnut.com/l/_PPJUrekZ4Sdk
https://dl.doubtnut.com/l/_5XbAfKnDrk8Q


16. The form of iron obtained from blast furnace is

A. steel

B. cast iron

C. pig iron

D. wrought iron

Answer: C

Watch Video Solution

17. Which one of the following ores is known as malachite?

A. 

B. 

C. 

D. 

Cu2O

Cu2S

CuFeS2

Cu(OH)2. CuCO3

https://dl.doubtnut.com/l/_IuJWg1nuCzTu
https://dl.doubtnut.com/l/_BxD4VZjMowXJ


Answer: D

Watch Video Solution

18. Which of the following statements is correct?

A. Anthracite and chalcocite are both ores of copper

B. Anthracite and chalcocite are both sulphide ores

C. Both German silver and horn silver have zero percent silver

content

D. Malachite and azurite are both basic copper carbonate

Answer: D

Watch Video Solution

19. Extraction of zinc from zinc blende is achieved by

https://dl.doubtnut.com/l/_BxD4VZjMowXJ
https://dl.doubtnut.com/l/_6l5WiS6OffBn
https://dl.doubtnut.com/l/_nmGfAOon5wJJ


A. electrolytic reduction

B. roasting followed by reduction with carbon

C. roasting followed by reduction with another metal

D. roasting followed by self reduction

Answer: B

Watch Video Solution

20. Sulphide ores are common for the metals

A. 

B. 

C. 

D. 

Answer: A

Ag, Cu and Pb

Ag, Cu and Sn

Ag, Mg and Pb

Al, Cu and Pb

https://dl.doubtnut.com/l/_nmGfAOon5wJJ
https://dl.doubtnut.com/l/_niruxRA7kDsD


Watch Video Solution

21. Which of the following metals can be obtained by thermal

decomposition of their oxides at attainable temperatures? Silver,

Mercury,
Gold,
All of these

A. Silver

B. Mercury

C. Gold

D. All of these

Answer: D

Watch Video Solution

22. For obtaining high purity metals, which of the following methods

of refining is preferred?

https://dl.doubtnut.com/l/_niruxRA7kDsD
https://dl.doubtnut.com/l/_ME0efijqI5cq
https://dl.doubtnut.com/l/_IW7fF46U55x4


A. Poling

B. Liquation

C. Zone refining

D. Electrolytic method

Answer: C

Watch Video Solution

23. The reaction  in the metallurgical

process of zinc is called

A. roasting

B. smelting

C. cupellation

D. calcination

2ZnS + 3O2 → 2ZnO + 2SO2

https://dl.doubtnut.com/l/_IW7fF46U55x4
https://dl.doubtnut.com/l/_GQvkB23WYjw8


Answer: A

Watch Video Solution

24. Chemical reduction is not suitable for converting

A. zinc oxide into zinc

B. lead oxide into lead the dood

C. bauxite into aluminium

D. haematite into iron

Answer: C

Watch Video Solution

25. Ellingham diagram can be drawn for which of the following?

https://dl.doubtnut.com/l/_GQvkB23WYjw8
https://dl.doubtnut.com/l/_L2R8edMG36HJ
https://dl.doubtnut.com/l/_e7C9ICCcGZc8


A. Sulphides

B. Oxides

C. Halides

D. All of these

Answer: D

Watch Video Solution

26. Electrolytic reduction of alumina to aluminium by Hall-Heroult

process is carried out

A. in the presence of NaCl

B. in the presence of fluorite

C. in the presence of cryolite which forms a melt with lower

melting temperature

https://dl.doubtnut.com/l/_e7C9ICCcGZc8
https://dl.doubtnut.com/l/_jObF6uv3RNbS


D. in the presence of cryolite which forms a melt with higher

melting temperature

Answer: C

Watch Video Solution

27. Van Arkel method of purification of metals involves converting the

metal to a

A. volatile stable compound

B. non-volatile stable compound

C. volatile unstable compound

D. non-volatile unstable compound

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jObF6uv3RNbS
https://dl.doubtnut.com/l/_PmnAuE1LR3nd


28. Which of the following does not contain Mg?

A. Magnetite

B. Magnesite

C. Asbestos

D. Carnallite

Answer: A

Watch Video Solution

29. When a metal is to be extracted from its ore, if the gangue

associated with the ore is silica, then

A. a basic flux is needed

B. an acidic flux is needed

C. both (A) and (B)

https://dl.doubtnut.com/l/_T45oSQMGHrEI
https://dl.doubtnut.com/l/_mmx3YlJuGSDf


D. neither of them is needed

Answer: A

Watch Video Solution

30. Extraction of silver form 'Ag_2 ~S' by the use of soidum cyanide is

an example of

A. Roasting

B. Hydrometallurgy

C. Electrometallurgy

D. Smelting

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mmx3YlJuGSDf
https://dl.doubtnut.com/l/_z0TriEIxlkxL
https://dl.doubtnut.com/l/_ur079pWRzZM9


31. Which of the following processes involve the roasting process?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ZnCO3 → ZnO + CO2

Fe2O3 + 3C → 2Fe + 3CO

2PbS + 3O2 → 2PbO + 2SO2

Al2O3. 2H2O → Al2O3 + 2H2O

32. Magnetic separation is used for increasing concentration of the:

A. Hom silver

B. Calcite

C. Haematite

D. Magnesite

https://dl.doubtnut.com/l/_ur079pWRzZM9
https://dl.doubtnut.com/l/_i4BRjJlFnKIB


Answer: C

Watch Video Solution

33. Which of the following factors is of no significance for roasting

sulphide ores to the oxides and not subjecting the sulphide ores to

carbon reduction directly?

A.  is more volatile than 

B. Metal sulphides are thermodynamically more stable than 

C.  is thermodynamically more stable than 

D. Metal sulphides are less stable than the corresponding oxides

Answer: B

Watch Video Solution

CO2 CS2

CS2

CO2 CS2

https://dl.doubtnut.com/l/_i4BRjJlFnKIB
https://dl.doubtnut.com/l/_q0Eh5k1bJl4j


34. By which process Hg and Sn are extracted, respectively?

A. Carbon reduction, self-reduction

B. Self-reduction, carbon reduction

C. Electrolytic reduction, cyanide process

D. Cyanide process, electrolytic reduction

Answer: B

Watch Video Solution

35. Extraction of Ag from commercial lead is possible by of

A. Parke’s process

B. Clarke's process

C. Mc-Arthur Forest process

D. Electrolytic process

https://dl.doubtnut.com/l/_zn50EaGAq2u1
https://dl.doubtnut.com/l/_Fsa44CXlZ2C4


Answer: A

Watch Video Solution

36. Spelter is

A. Impure zinc

B. Impure iron

C. Pure zinc

D. Impure aluminium

Answer: A

Watch Video Solution

37. Before introducing FeO in blast furnace, it is converted to 

by roasting so that

Fe2O3

https://dl.doubtnut.com/l/_Fsa44CXlZ2C4
https://dl.doubtnut.com/l/_0b76rRha3QPW
https://dl.doubtnut.com/l/_5YFIIfx9ehsa


A. It may not be removed as slag with silica

B. Oresence of it may increase the melting point of charge

C. It may not evaporate in the furnace.

D. None of the above

Answer: A

Watch Video Solution

38. Which method is not correct for refining of crude metals?

A. Liquation:tin

B. Zone refining: silicon

C. Electrolytic refining: blister copper

D. Mond's process : aluminium

Answer: D

https://dl.doubtnut.com/l/_5YFIIfx9ehsa
https://dl.doubtnut.com/l/_Th0mk0CPWBMq


Watch Video Solution

39. Which of the following reactions taking place in the blast furnace

during extraction ofiron is endothermic?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaCO3 → CaO + CO2

2C + O2 → 2CO

C + O2 → CO2

Fe2O3 + 3CO → 2Fe + 3CO2

40. Which of the following factors is of no significance for roasting

sulphide ores to the oxides and not subjecting the sulphide ores to

carbon reduction directly?

https://dl.doubtnut.com/l/_Th0mk0CPWBMq
https://dl.doubtnut.com/l/_Csdka7nZSACV
https://dl.doubtnut.com/l/_vq028ZKexG5w


A.  is more volatile than 

B. Metal sulphides are thermodynamically more stable than 

C. Metal sulphides are less stable than the corresponding oxides

D.  is thermodynamically more stable than 

Answer: B

Watch Video Solution

CO2 CS2

CS2

CO2 CS2

41. The incorrect statement is

A. Calamine and siderite are carbonates

B. Argentite and cuprite are oxides

C. Zinc blende and iron pyrites are sulphides

D. Malachite and azurite are ores of copper

Answer: B

https://dl.doubtnut.com/l/_vq028ZKexG5w
https://dl.doubtnut.com/l/_Y67yv0Yv12a9


Watch Video Solution

42. The process of isolation of metals by dissolving the ore in a

suitable chemical regent followed by precipitation of the metal by a

more electropositive metal is called

A. Electrometallurgy

B. Hydrometallurgy

C. Electro refining

D. Zone refining

Answer: B

Watch Video Solution

43. Thermite reduction is not used for commercial extraction of the

respective metal from which of the following oxides?

https://dl.doubtnut.com/l/_Y67yv0Yv12a9
https://dl.doubtnut.com/l/_7BHhcSA9ZY4M
https://dl.doubtnut.com/l/_ByILh4sCRowv


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Mn3O4

TiO2

Fe2O3

Cr2O3

44. The method of zone refining of metals is based on the principle of

A. greater noble character of the solid metal than that of the

impurity

B. greater solubility of the impurity in the molten metal than in

the solid

C. greater mobility of the pure metal than that of impurity

https://dl.doubtnut.com/l/_ByILh4sCRowv
https://dl.doubtnut.com/l/_LQdPcPhqkpD7


D. higher melting point of the impurity than that of the pure metal

Answer: B

Watch Video Solution

45. Which method is not correct for refining of crude metals?

A. Distillation,zinc and mercury

B. Liquation: tin

C. van Arkel: Zirconium in

D. Mond process: lead

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LQdPcPhqkpD7
https://dl.doubtnut.com/l/_X0zCOJOyVZa6


46. Magistral is the burnt pyrites containing

A. sulphates of iron and copper

B. sulphates and oxides of iron and copper

C. oxides of iron and copper

D. sulphides of silver and lead

Answer: B

Watch Video Solution

47. Gold is extracted by hydrometallurgical process based on its

property

A. of being electropositive

B. of being less reactive

C. to form complexes which are water soluble

https://dl.doubtnut.com/l/_wy5kQYeaxmyf
https://dl.doubtnut.com/l/_IcjzO8qNXEkz


D. to form salts which are water soluble

Answer: C

Watch Video Solution

48. The final step for the extraction of copper from copper pyrites in

Bessemer converter involves the reaction (1) Cu_2S + 2FeO→2Cu + 2Fe

+SO_2
 (2) Cu_2S + 2Cu2_ O → 6Cu+SO2
 (3) 4Cu_2 O +Fe S → 8Cu +

2FeSO4
(4) 2Cu_2 O + FeS → 4Cu + Fe + SO2

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2S + 2FeO → 2Cu + 2Fe + SO2

Cu2S + 2Cu2O → 6Cu + SO2

4Cu2O + FeS → 8Cu + 2FeSO4

2Cu2O + FeS → 4Cu + Fe + SO2

https://dl.doubtnut.com/l/_IcjzO8qNXEkz
https://dl.doubtnut.com/l/_3dtZU8tNJwoT


49. Which of the following statement is incorrect?

A. Pure aluminium oxide is obtained by heating aluminium

hydroxide

B. Cryolite lowers down the melting point of bauxite in electrolytic

cell for extraction of aluminium

C. Carbonate ores are converted into oxides by roasting in air

D. Mercury cannot be produced by roasting the cinnabar ore in air

Answer: C

Watch Video Solution

50. The chief impurity present in red bauxite is (1) SiO2
(2) Fe_2 O_3
(3)

K2SO4
(4) NaF

https://dl.doubtnut.com/l/_3dtZU8tNJwoT
https://dl.doubtnut.com/l/_gsRR4cNECtNS
https://dl.doubtnut.com/l/_2in350bNKKlW


Level Ii

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SiO2

Fe2O3

K2SO4

NaF

1. Extraction of gold and silver involves leaching the metal with 

ion. The metal is recovered by (1) Displacement of metal by some

other metal from the complex ion
 (2) Roasting of metal complex
 (3)

Calcination followed by roasting
 (4) Thermal decomposition of metal

complex

CN −

https://dl.doubtnut.com/l/_2in350bNKKlW
https://dl.doubtnut.com/l/_02URspZmRiQT


A. displacement of metal by some other metal from the complex

ion

B. roasting of metal complex

C. calcination followed by roasting

D. thermal decomposition of metal complex

Answer: A

Watch Video Solution

2. When copper ore is mixed with silica in a reverberatory furnace,

copper matte is produced. The copper matte contains..........

A. sulphides of copper (III) and iron (II)

B. sulphides of copper (II) and iron (III)

C. sulphides of copper (I) and iron (II)

D. sulphides of copper (I) and iron (III)

https://dl.doubtnut.com/l/_02URspZmRiQT
https://dl.doubtnut.com/l/_5NpGpGNnEgwv


Answer: C

Watch Video Solution

3. In the modern blast furance, the charge consists of a mixture of

A. iron pyrites + bituminous coal

B. hydrated iron oxide + dolomite + coke

C. calcined iron oxides + limestone + coke

D. calcined iron oxides + lime + anthracite coal

Answer: C

Watch Video Solution

4. "Native silver metal forms a, water soluble complex with a dilute

aqueous solntion of NaCN in the presence of

https://dl.doubtnut.com/l/_5NpGpGNnEgwv
https://dl.doubtnut.com/l/_h17F3W4yxovY
https://dl.doubtnut.com/l/_NewejVvYj6s1


A. nitrogen

B. oxygen

C. carbon dioxide

D. argon

Answer: B

Watch Video Solution

5. Among the following groups of oxides, the group containing oxides

that cannot be reduced by carbon to give the respective metals is

A. 

B. 

C. 

D. 

Cu2O, K2O

PbO, Fe3O4

Fe2O3, ZnO

CaO, K2O

https://dl.doubtnut.com/l/_NewejVvYj6s1
https://dl.doubtnut.com/l/_XS2D8RcCNMve


Answer: D

Watch Video Solution

6. In the cyanide extraction process of silver from argentite ore, the

oxidising and reducing agents are

A.  and  respectively

B.  and  respectively

C.  and Zn dust respectively

D.  and  respectively

Answer: B

Watch Video Solution

O2 CO

O2 Zn

HNO3

HNO3 CO

https://dl.doubtnut.com/l/_XS2D8RcCNMve
https://dl.doubtnut.com/l/_1XlG70JLFpjy


7. The statement that is NOT correct is that (1) A furnace lined with

haematite is used to convert cast iron to wrought iron.
 (2) Collectors

enhance the wettability of mineral particles during froth floatation.
 (3)

In vapour phase refining, metal should form a volatile compound.
 (4)

Copper from its low-grade ores is extracted by hydrometallurgy.

A. a furnace lined with haematite is used to convert cast iron to

wrought iron.

B. collectors enhance the wettability of mineral particles during

froth floatation.

C. in vapour phase refining, metal should form a volatile

compound.

D. copper from its low-grade ores is extracted by hydrometallurgy.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ssSBZi5qEZmd


8. Which step is not involved in hydrometallurgical process?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cu2S + 2Cu2O → 6Cu + SO2

CuFeS2 + 2H2SO4 → CuSO4 + FeSO4 + 2H2S

CuSO4 + Fe → FeSO4 + Cu

CuCO3 + H2SO4 → CuSO4 + H2O + CO2

9. Reduction of a metal oxide by excess carbon at high temperature is

a method for the commercial preparation of some metals. This

method can be successfully applied in the case of

A.  and 

B.  and 

BeO Al2O3

ZnO Fe2O3

https://dl.doubtnut.com/l/_JF7Da7jKjHgT
https://dl.doubtnut.com/l/_Y00Rmdmgynj1


C.  and 

D.  and 

Answer: B

Watch Video Solution

CaO Cr2O3

BaO U3O8

10. Carbon can reduce ferric oxide to iron at a temperature above 983

K because

A. carbon monoxide formed is thermodynamically less stable than

ferric oxide

B. carbon has a higher affinity towards oxygen than iron

C. free energy change for the formation of carbon dioxide is less

negative than that for ferric oxide

D. iron has a higher affinity towards oxygen than carbon

https://dl.doubtnut.com/l/_Y00Rmdmgynj1
https://dl.doubtnut.com/l/_8MzXVKcxNdOY


Answer: B

Watch Video Solution

11. Consider the following reaction,  alloy 

 


Select the correct statement(s) based on above scheme. (1) Layer X

contains zinc and silver
 (2) Layer Y contains lead and silver but

amount of silver in this layer is smaller than in the layer X
(3) X and Y

are immiscible layers
(4) All of the above are correct statements

A. Layer X contains zinc and silver

B. Layer Y contains lead and silver but amount of silver in this layer

is smaller than in the layer X

C. X and Y are immiscible layers

D. All of the above are correct statements

(Ag + Pb)

Melt and add zinc
−−−−−−−−−→ (Ag + Pb + Zn)melt 

Cool
−−→

Layer X

Layer Y

https://dl.doubtnut.com/l/_8MzXVKcxNdOY
https://dl.doubtnut.com/l/_UIVHlngVsDbJ


Answer: D

Watch Video Solution

12. Consider the following metallurgical processes in 

1. Heating impure metal with  and distilling the resulting volatile

carbonyl boiling point  and finally decomposing at  to 

 to get the pure metal. 


II. Heating the sulphide ore in air until a part is converted to oxide and

then further heating in the absence of air to let the oxide react with

unchanged sulphide. 

III. Electrolysing the molten electrolyte containing approximately

equal amounts of the metal chloride and  to obtain the metal.

The processes used for obtaining sodium, nickel and copper are

respectively

A. I, II and III

B. II, III and I

CO

43∘C 150∘

200∘C

CaCl2

https://dl.doubtnut.com/l/_UIVHlngVsDbJ
https://dl.doubtnut.com/l/_0VOExh4wP0Tt


C. III, I and II

D. II, I and III

Answer: C

Watch Video Solution

13. During the concentration of sulphide ores by froth floatation

process, the separation of sphalerite and galena is achieved by which

of the following substances used as depressant?

A. Potassium xanthate

B. Sodium cyanide

C. Copper sulphate

D. Pine oil

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0VOExh4wP0Tt
https://dl.doubtnut.com/l/_w6MDgxx8OCSz


Watch Video Solution

14. Which of the following factors is of no significance for roasting

sulphide ores to the oxides and not subjecting the sulphide ores to

carbon reduction directly?

A. Metal sulphides are thermodynamically more stable than 

B.  is thermodynamically more stable than 

C. Metal sulphides are less stable than the corresponding oxides

D.  is more volatile than 

Answer: C

Watch Video Solution

CS2

CO2 CS2

CO2 CS2

15. Identify M and N in the following reaction. 

Copper glance  

controlled heating

−−−−−−−−−−→ M + SO2

↑⏐⏐

M
N

−−→ Cu + SO2
↑⏐⏐

https://dl.doubtnut.com/l/_w6MDgxx8OCSz
https://dl.doubtnut.com/l/_OOnKZzAUDWiB
https://dl.doubtnut.com/l/_zRztioA8R9Gl


A. =Self reduction

B. , N=self reduction

C. =carbon reduction

D.  =Electrolytic reduction

Answer: B

Watch Video Solution

M = Cu2O, N

M = Cu2O + Cu2S

M = Cu2O, N

M = Cu2O, N

16. Which method of purification is represented by the equations.

 : Cupellation,

Poling,
van Arkel,
Zone refining

A. Zone refining

B. Cupellation

C. Poling

D. van Arkel

Ti(s) + 2I2(g)
523K

−−→ TiI4(g)
1700K

−−−→ Ti(s) + 2I2(g)

https://dl.doubtnut.com/l/_zRztioA8R9Gl
https://dl.doubtnut.com/l/_XpdEupXORKJR


Answer: D

Watch Video Solution

17. In the context of the Hall-Heroult process for the extraction of Al,

which of the following statement is false?

A.  is mixed with  which lowers the melting point of

the mixture and brings conductivity.

B.  is reduced at the cathode to form Al.

C.  serves as the electrolyte

D.  and  are produced in this process.

Answer: C

Watch Video Solution

Al2O3 CaF2

Al+ 3

Na3AlF6

CO CO2

https://dl.doubtnut.com/l/_XpdEupXORKJR
https://dl.doubtnut.com/l/_fIbZTdYhQOr7


18. Which of the following statements is correct?

A. Slag is carefully chosen to combine with the flux present in the

ore to produce easily fusible gangue to carry away the

impurities.

B. Gangues are carefully chosen to combine with the slag present

in the ore to produce easily fusible flux to carry away the

impurities.

C. Gangues are carefully chosen to combine with flux present in

the ore to produce easily fusible slag to carry away the

impurities.

D. Fluxes are carefully chosen to combine with the gangue present

in the ore to produce easily fusible slag to carry away the

impurities.

https://dl.doubtnut.com/l/_dsufagpTv21Y


Answer: D

Watch Video Solution

19. Froth floatation method is successful in separating impurities from

ores because
(1) The pure ore is soluble in water containing additives

like pine oil, cresylic acid, etc.
 (2) The pure ore is lighter than water

containing additives like pine oil, cresylic acid, etc.
 (3) The impurities

are soluble in water containing additives like pine oil, cresylic acid, etc.

(4) The pure ore is not easily wetted by water as by pine oil, cresylic

acid, etc.

A. the pure ore is soluble in water containing additives like pine oil,

cresylic acid, etc.

B. the pure ore is lighter than water containing additives like pine

oil, cresylic acid, etc.

https://dl.doubtnut.com/l/_dsufagpTv21Y
https://dl.doubtnut.com/l/_MiSUNgjpvRdm


C. the impurities are soluble in water containing additives like pine

oil, cresylic acid, etc.

D. the pure ore is not easily wetted by water as by pine oil, cresylic

acid, etc.

Answer: D

Watch Video Solution

20. The final step for the extraction of copper from copper pyrites in

Bessemer converter involves the reaction (1) Cu_2S + 2FeO→2Cu + 2Fe

+SO_2
 (2) Cu_2S + 2Cu2_ O → 6Cu+SO2
 (3) 4Cu_2 O +Fe S → 8Cu +

2FeSO4
(4) 2Cu_2 O + FeS → 4Cu + Fe + SO2

A. 

B. 

C. 

Cu2S + 2Cu2O → 6Cu + SO2

4Cu2S + FeS → 8Cu + FeSO4

2Cu2O + FeS → 4Cu + Fe + SO2

https://dl.doubtnut.com/l/_MiSUNgjpvRdm
https://dl.doubtnut.com/l/_XtwfvTgSbPGZ


D. 

Answer: A

Watch Video Solution

Cu2S + 2FeO → 2Cu + 2FeCO + SO2

21. When the sample of Cu with Zn impurity is to be purified by

electrolysis, the appropriate electrodes are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cathode Anode 

A. Pure Zn Pure Cu 

Cathode Anode 

B. Impure sample Pure Cu 

Cathode Anode 

C. Impure Zn Impure sample 

Cathode Anode 

D. Pure Cu Impure sample 

https://dl.doubtnut.com/l/_XtwfvTgSbPGZ
https://dl.doubtnut.com/l/_Cratrz8KD0mH
https://dl.doubtnut.com/l/_wo90NQYXswSt


22. Which of the following combination represents the correct

matching of metals with the most commonly employed ores for their

extraction? .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Fe Zn Cu Al

Haematite Sphalerite Copper pyrites Bauxite

Fe Zn Cu Al

Iron pyrites Zincite Cuprite Clay

Fe Zn Cu Al

Siderite Calamine Malachite Aluminium phosphate 

Fe Zn Cu Al

Chalcocite Magnetite Copper glance Bauxite

23.  plot in the Ellingham's diagram slopes downward for

the reaction : , ,

 , 

A. 

ΔG∘
' V s. T

Mg + 2O2 → MgO 2Ag + O2 → Ag2O
1

2

C + O2 → CO
1

2
CO + O2 → CO2

1

2

Mg + O2 → MgO
1

2

https://dl.doubtnut.com/l/_wo90NQYXswSt
https://dl.doubtnut.com/l/_hYIcI6OtYMHg


B. 

C. 

D. 

Answer: C

Watch Video Solution

2Ag + O2 → Ag2O
1

2

C + O2 → CO
1

2

CO + O2 → CO2

1

2

24. Bauxite ore consists of . This ore is

treated with conc.  solution at 500 K and 35 bar pressure for a

few hours and filtered out. In the filtrate, the species present are

A.  only

B.  only

C.  and  both

D.  only

Al2O3, SiO2, TiO2, Fe2O3

NaOH

NaAl(OH)4

Na2Ti(OH)6

NaAl(OH)4 Na2SiO3

Na2SiO3

https://dl.doubtnut.com/l/_hYIcI6OtYMHg
https://dl.doubtnut.com/l/_GqU2PulsAONx


Answer: C

Watch Video Solution

25. When copper pyrites is roasted, the flux added to form slag is

A. , which is an acidic flux

B. Limestone, which is a basic flux

C. , which is a basic flux

D. , which is a basic flux

Answer: A

Watch Video Solution

SiO2

SiO2

CaO

26. Four metals and their methods of refinement are given 

i) Ni, Cu, Zr, Ga

https://dl.doubtnut.com/l/_GqU2PulsAONx
https://dl.doubtnut.com/l/_VjPzDwuP0xu8
https://dl.doubtnut.com/l/_MEFUp9rRy6lb


ii) Electrolysis, Van Arkel process, Zone refining, Mond's process 

Choose the right method for each:

A. Ni: Electrolysis, Cu: Van Arkel process, Zr: Zone refining, Ga:

Mond's process

B. Ni: Mond's process, Cu: Electrolysis, Zr: Van Arkel process, Ga:

Zone refining

C. Ni: Mond's process, Cu: Van Arkel process, Zr: Zone refining, Ga:

Electrolysis

D. Ni : Electrolysis, Cu: Zone refining, Zr: Van Arkel process, Ga:

Mond's process

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MEFUp9rRy6lb


27. Carbon reduction process is not commercially applicable for which

of the following set of oxides to extract the respective metal? 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I)ZnO    II)Fe2O3     III)Al2O3     IV )SnO2     V )MgO

ZnO, Fe2O3, SnO2

ZnO, SnO2

MgO, Al2O3

MgO, SnO2, Al2O3

28. Which of the following is incorrect on the basis of the given

Ellingham diagram for carbon? 

https://dl.doubtnut.com/l/_KhuZq0geOKAP
https://dl.doubtnut.com/l/_XRKOXamtxhq6


A. Up to , the reaction of formation of  is energetically

more favourable, but above  the formation of  is

preferred.

B. In principle, carbon can be used to reduce any metal oxide at a

sufficiently high temperature.

C. 

710∘C CO2

710∘C CO

ΔS[C ( s ) + 1/2O2 ( g ) → CO ( g ) ] < ΔS[C ( s ) + O2 → CO2 ( g ) ]

https://dl.doubtnut.com/l/_XRKOXamtxhq6


D. Carbon reduces many oxides at elevated temperature because

 vs temperature line has a negative slope.

Answer: C

Watch Video Solution

ΔfG
Θ

29. Formation of  and subsequent its decomposition into Ni

and CO (recycled) makes the basis of Mond's process 

 


 are

A. 

B. 

C. 

D. 

Answer: C

Ni(CO)4

Ni + 4CO
T1

−−→ Ni(CO)4

T2

−−→ Ni + 4CO

T1 and T2

100∘C, 50∘C

50∘C, 100∘C

50∘C, 220∘C

230∘C, 50∘C

https://dl.doubtnut.com/l/_XRKOXamtxhq6
https://dl.doubtnut.com/l/_PhXguws7sYGP


Watch Video Solution

30. Following reaction is not involved in Thermite process

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3Mn3O4 + 8Al → 9Mn + 4Al2O3

Cr2O3 + 2Al → Al2O3 + 2Cr

2Fe + Al2O3 → 2Al + Fe2O3

B2O3 + 2Al → 2B + Al2O3

31. Consider the following steps 

Which is not the correct

statement?

CuS
roast in air

−−−−−→ (A)
roast without air

−−−−−−−−−→ (B)

https://dl.doubtnut.com/l/_PhXguws7sYGP
https://dl.doubtnut.com/l/_8P3gXI5DxueF
https://dl.doubtnut.com/l/_xoZyjK1dD9vZ


A. It is self-reduction

B. It involves disproportionation 

C. (A) is a mixture of CuO and CuS and (B) is a mixture of Cu and

D. All are incorrect statements

Answer: B

Watch Video Solution

Cu2S → Cu + CuS

SO2

32. NaCN is sometimes added in the froth flotation process as a

depressant when ZnS and PbS minerals are expected because

A.  is precipitated while no effect as 

B.  forms soluble complex  while  forms

froth

Pb(CN)2 ZnS

ZnS Na2[Zn(CN)4] PbS

https://dl.doubtnut.com/l/_xoZyjK1dD9vZ
https://dl.doubtnut.com/l/_dIFvbANFaoT2


C.  forms soluble complex  while  forms

froth

D.  is never added in froth flotation process

Answer: B

Watch Video Solution

PbS Na2[Pb(CN)4] ZnS

NaCN

33. At what approximate temperature, zinc and carbon have equal

affinity for oxygen?

A. 

B. 

C. 

D. 

Answer: A

1000∘C

1500∘C

500∘C

1200∘C

https://dl.doubtnut.com/l/_dIFvbANFaoT2
https://dl.doubtnut.com/l/_uTxEmKmt3Lsx


Watch Video Solution

34.  


At this temperature  of the reaction is 

A. 

B. 

C. Zero

D. Nothing can be said

Answer: C

ΔfG
Θ ZnO + C + Zn + CO

−ve

+ve

https://dl.doubtnut.com/l/_uTxEmKmt3Lsx
https://dl.doubtnut.com/l/_0Y7mmveTidne


View Text Solution

35. To make the following reduction process spontaneous,

temperature should be: 

A. 

B. 

C. 

D.  but 

Answer: B

Watch Video Solution

ZnO + C → Zn + CO

< 1000∘C

> 1100∘C

< 500∘C

> 500∘C < 1000∘C

36. The principal reaction(s) in the zone of heat absorption of blast

furnace employed in the metallurgy of iron is/are

https://dl.doubtnut.com/l/_0Y7mmveTidne
https://dl.doubtnut.com/l/_qV6BZU6J1IrX
https://dl.doubtnut.com/l/_grEonEyNivNM


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C + O2 → CO2

2C + O2 → 2CO

2CO + O2 → 2CO2

CaCO3

−CO2

−−−→ CaO
SiO2

−−→ CaSiO3

37. Which of the following statements regarding the metallurgy of

aluminium by electrolytic method is not correct?

A. Electrolyte is  dissolved in  containing a little of 

B. Anode consists of a number of graphite rods which are

periodically replaced

Al3O3 Na3AlF6

CaF2

https://dl.doubtnut.com/l/_grEonEyNivNM
https://dl.doubtnut.com/l/_I8LMaFY2n34Y


C. Aluminium being heavier than electrolyte floats over the surface

of the latter

D. Bauxite ore is purified before carrying out the electrolysis

Answer: C

Watch Video Solution

38. The impure zinc contains impurities such as cadmium, arsenic, iron

and lead. From this, zinc may be recovered by

A. distillation at 500 K

B. distillation at 1170K - 1270 K followed by rapid chilling

C. distillation at 3100 K

D. solvent extraction method

Answer: B

https://dl.doubtnut.com/l/_I8LMaFY2n34Y
https://dl.doubtnut.com/l/_6ufMSt8f7ikj


Watch Video Solution

39. In zone refining method, the molten zone.

A. contains impurities

B. contains purified metal only

C. contains more impurity than the original metal

D. moves to either side

Answer: C

Watch Video Solution

40. The metal that cannot be obtained by electrolysis of the aqueous

solution of its salts is:

A. Cr

https://dl.doubtnut.com/l/_6ufMSt8f7ikj
https://dl.doubtnut.com/l/_rw5gKw0AzVNh
https://dl.doubtnut.com/l/_xw9vxK1qPdpv


B. 

C. 

D. 

Answer: C

Watch Video Solution

Ag

Ca

Cu

41. Which of the following curves assures that the metal obtained by

carbon reduction is in the vapour state?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_xw9vxK1qPdpv
https://dl.doubtnut.com/l/_ovBQLtnDw0CW


D. 

Answer: B

Watch Video Solution

42. Which of the following characteristics of steel are developed by

the tempering process?

A. Steel becomes hard and brittle

B. Steel becomes soft

C. Steel remains hard but brittleness disappears

D. Only the surface layer becomes hard

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ovBQLtnDw0CW
https://dl.doubtnut.com/l/_t0MHhRZt9xnM


43. Which of the following statements is correct regarding self

reduction?

A. Partial roasting and self reduction occur together

B. First self reduction occurs followed by partial roasting

C. First partial roasting occurs followed by self reduction

D. Partial roasting is done in the reverberatory furnace first, and

then self reduction is done in the blast furnace

Answer: C

Watch Video Solution

44. Which of the following activities is not related to poling?

https://dl.doubtnut.com/l/_t0MHhRZt9xnM
https://dl.doubtnut.com/l/_UnCXCnADiyP0
https://dl.doubtnut.com/l/_A9cGUNKBzgx2


A. Metallic impurities having higher oxidation potential than the

metal to be refined are oxidized first.

B. Non-volatile oxides are removed in the form of scum.

C. Metallic impurities having lower oxidation potential than the

metal to be refined settle down at the bottom of the furnace.

D. Green poles of wood are used as stirrers.

Answer: C

Watch Video Solution

45. Carbon reduction cannot be employed for the extraction of 

from  because

A. the temperature requirement is very high .

B.  obtained in the vapour state is very difficult to handle.

C.  forms its carbide  and a lot of it gets wasted.

Al

Al2O3

(~2000∘C)

Al

Al (Al2C3)

https://dl.doubtnut.com/l/_A9cGUNKBzgx2
https://dl.doubtnut.com/l/_DaQj0koYmIEq


D. All of these

Answer: D

Watch Video Solution

46. Oxidation states of the metal in the minerals haematite and

magnetite, respectively, are

A. II, III in haematite and III in magnetite

B. II, III in haematite and II in magnetite.

C. II in haematite and II and III in magnetite.

D. III in haematite and II and III in magnetite.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DaQj0koYmIEq
https://dl.doubtnut.com/l/_1IUMGMt5rbVP
https://dl.doubtnut.com/l/_lDvD5X4Ji52t


Level Ii Assertion Reason Type

47. Roasted copper pyrite is on smelting with sand produces

A.  as fusible slag and  as matte

B.  as infusible slag and  as matte matter the

C.  as fusible slag and  as matte

D.  as infusible slag and  as matte

Answer: A

Watch Video Solution

FeSiO3 Cu2S

CaSiO3 Cu2O

Ca(PO4)2 Cu2S

Fe3(PO4)2 Cų2S

1. Assertion : Aluminium cannot be extracted by reducing alumina with

carbon. 

Reason : Aluminium has more affinity for oxygen than carbon.

https://dl.doubtnut.com/l/_lDvD5X4Ji52t
https://dl.doubtnut.com/l/_SP1pUhXcz6Ap


A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

2. Assertion , Silver ores and native gold have to be leached with metal

cyanides. 

Reason : Silver and gold do not form complex ion with cyanide ion.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

https://dl.doubtnut.com/l/_SP1pUhXcz6Ap
https://dl.doubtnut.com/l/_KOSZZCbOHwOM


B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

3. Assertion : Levigation is used for the separation of oxide ores from

impurities. 

Reason : Ore particles are removed by washing in a current of water.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

https://dl.doubtnut.com/l/_KOSZZCbOHwOM
https://dl.doubtnut.com/l/_mFB4EiAPmzLY


C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

4. Assertion : PbS when heated with air undergoes self-reduction. 

Reason : The PbO that is formed on heating PbS reacts further with

PbS to yield Pb and 

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

SO2

https://dl.doubtnut.com/l/_mFB4EiAPmzLY
https://dl.doubtnut.com/l/_ZMvI3pxARMIP


Answer: A

Watch Video Solution

5. Assertion : Limestone added in the blast furnace decomposes to

give CaO which forms slag in molten state and separates out from

iron. 

Reason : The iron obtained from the blast furnace contains about 4%

carbon and many impurities like S, P, Si, Mn, etc.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

https://dl.doubtnut.com/l/_ZMvI3pxARMIP
https://dl.doubtnut.com/l/_4mppJMmSPcOP


Answer: B

Watch Video Solution

6. Assertion : In electrolytic refining of metal, impure metal is made

cathode while a strip of pure metal is used as anode. 

Reason : The pure metal gets deposited at anode as anode mud.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_4mppJMmSPcOP
https://dl.doubtnut.com/l/_diE1cFu3dPd5


7. Assertion : Tin is refined by liquation method. 

Reason : Tin has low melting point as compared to impurities.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

8. Assertion : Zone refining method is used to produce pure metals

which are used as semiconductors. 

https://dl.doubtnut.com/l/_diE1cFu3dPd5
https://dl.doubtnut.com/l/_zZpKfxg0fB9u
https://dl.doubtnut.com/l/_ZYczN71BpupP


Reason : Semiconductors are used in highly pure form.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

9. Assertion : Nickel is purified by reacting it with CO. 

Reason : Impurities present, form a volatile complex.

https://dl.doubtnut.com/l/_ZYczN71BpupP
https://dl.doubtnut.com/l/_HcOJtLMNgldq


A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

10. Assertion : Reduction of a metal oxide is easier if the metal formed

is in liquid state at the temperature of reduction. 

Reason : The entropy is higher if the metal is in liquid state.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

https://dl.doubtnut.com/l/_HcOJtLMNgldq
https://dl.doubtnut.com/l/_25H1MUymM5NL


B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

11. Assertion : Zirconium can be purified by Van Arkel method. 

Reason : , is volatile and decomposes at 1800 K.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

ZrI4

https://dl.doubtnut.com/l/_25H1MUymM5NL
https://dl.doubtnut.com/l/_R8hxsg61Enn6


D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

12. Assertion : Hydrometallurgy involves dissolving the ore in a

suitable reagent followed by precipitation by a more electropositive

metal. 

Reason : Copper is extracted by hydrometallurgy from low grade ore.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

https://dl.doubtnut.com/l/_R8hxsg61Enn6
https://dl.doubtnut.com/l/_sLAd6hz8VqRk


Answer: C

Watch Video Solution

13. Assertion : During the reduction of  to is more efficient

than CO. 

Reason : The standard free energy of formation of  from  is

always higher than that of ZnO.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

ZnO Zn, C

CO2 CO

https://dl.doubtnut.com/l/_sLAd6hz8VqRk
https://dl.doubtnut.com/l/_JMx0V7VmWvSc


Watch Video Solution

14. Assertion : Carbonate and hydroxide ores are concentrated by

froth floatation process. 

Reason : In froth floatation process, mineral oil is used because it

preferentially wets the gangue particles.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JMx0V7VmWvSc
https://dl.doubtnut.com/l/_Fky9ZteDuu7R


15. Assertion : Aluminothermy is used for extraction of chromium from

chromium oxide. 

Reason : Alumina has a high melting point.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

16. Assertion : Reduction of the metal oxide usually involves heating it

with some other substance acting as a reducing agent. 

https://dl.doubtnut.com/l/_C3RT5cIzRjan
https://dl.doubtnut.com/l/_3hqXGHvpQkF9


Reason : The reducing agent combines with the oxygen of the metal

oxide.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

17. Assertion : At temperature above 1073 K (approx.) the  line

comes below the  line  


Reason : In this range, coke will reduce the FeO and itself get oxidised

C, CO

Fe, FeO [ΔGC CO < ΔGFe FeO ]

https://dl.doubtnut.com/l/_3hqXGHvpQkF9
https://dl.doubtnut.com/l/_GF5XH7eAcX5f


to CO. :
 If both (A) and (R) are correct and (R) is the correct

explanation of(A).,
 If both (A) and (R) are correct, but (R) is not the

correct explanation of (A).,
 If (A) is correct, but (R) is incorrect.,
 If both

(A) and (R) are incorrect.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GF5XH7eAcX5f


18. Assertion : Iron pyrites is not useful in the extraction of Fe. 

Reason : Polluting  gas is produced during extraction.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

SO2

19. Assertion : Usually the sulphide ore is converted to oxide before

reduction. 

Reason : Reduction of oxides occurs easier.

https://dl.doubtnut.com/l/_gMsviY9eneJb
https://dl.doubtnut.com/l/_vzYQSNSqsDRX


A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

20. Assertion : During calcination, the ore is heated well below its

melting point in the limited supply of oxygen. 

Reason: The process of calcination is carried out for sulphide ores. (1)

If both (A) and (R) are correct and (R) is the correct explanation of(A).

(2) If both (A) and (R) are correct, but (R) is not the correct

https://dl.doubtnut.com/l/_vzYQSNSqsDRX
https://dl.doubtnut.com/l/_bFT1bVeRvF7a


Level I

explanation of (A).
 (3) If (A) is correct, but (R) is incorrect.
 (4) If both

(A) and (R) are incorrect.

A. If both (A) and (R) are correct and (R) is the correct explanation

of(A).

B. If both (A) and (R) are correct, but (R) is not the correct

explanation of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

1. Which is not a mineral of aluminium?

https://dl.doubtnut.com/l/_bFT1bVeRvF7a
https://dl.doubtnut.com/l/_M43DO1yfxgdW


A. Corundum

B. Anhydrite

C. Diaspore

D. Bauxite

Answer: B

Watch Video Solution

2. Metal which can be extracted from all the three dolomite,

magnesite and carnallite is

A. Na

B. K

C. Mg

D. Ca

https://dl.doubtnut.com/l/_M43DO1yfxgdW
https://dl.doubtnut.com/l/_vQRrp9LFP0lH


Answer: C

Watch Video Solution

3. The method of concentrating the ore which makes use of the

difference in density between ore and impurities is called

A. leaching

B. liquation

C. levigation

D. magnetic separation

Answer: C

Watch Video Solution

4. In metallurgy, flux is a substance used to convert

https://dl.doubtnut.com/l/_vQRrp9LFP0lH
https://dl.doubtnut.com/l/_wmvuBaULRDCx
https://dl.doubtnut.com/l/_kC4F4L0GN6qr


A. soluble impurities to insoluble impurities

B. infusible impurities to fusible material

C. fusible impurities to infusible impurities

D. mineral into silicate

Answer: B

Watch Video Solution

5. Electrolytic refining is used to purify which of the following metals?

A. Cu and Zn

B. Ge and Si

C. Zr and Ti

D. Zn and Hg

Answer: A

https://dl.doubtnut.com/l/_kC4F4L0GN6qr
https://dl.doubtnut.com/l/_niSjEl15BLWy


Watch Video Solution

6. Wolframite ore is separated from tin stone ore by the process,

called

A. calcination

B. electromagnetic separation

C. roasting

D. smelting

Answer: B

Watch Video Solution

7. During electrolytic refining of copper, some metals present as

inpurity settle as 'anode mud'. These are -

https://dl.doubtnut.com/l/_niSjEl15BLWy
https://dl.doubtnut.com/l/_VYOEquj6D6FO
https://dl.doubtnut.com/l/_yonu083Q6Wgj


A. Fe and Ni

B. Ag and Au

C. Pb and Zn

D. Se and Ag

Answer: B

Watch Video Solution

8. In the extraction of copper from its sulphide ore, the metal is finally

obtained by the reduction of cuprous oxide with :

A. carbon monoxide

B. copper (I) sulphide

C. sulphur dioxide

D. iron (II) sulphide

https://dl.doubtnut.com/l/_yonu083Q6Wgj
https://dl.doubtnut.com/l/_HKeeu6oyk659


Answer: B

Watch Video Solution

9. Beneficiation means

A. to treat the metal oxide with carbon monoxide

B. to concentrate or remove impurities from an ore

C. to derive benefits from the ore

D. to heat the ore in presence of oxygen

Answer: B

Watch Video Solution

10. Which one of the following ores is best concentrated by froth

floatation method?

https://dl.doubtnut.com/l/_HKeeu6oyk659
https://dl.doubtnut.com/l/_4E9kzA0xzcba
https://dl.doubtnut.com/l/_6ynXm9T2AqtW


A. Magnetite

B. Malachite

C. Galena

D. Cassiterite

Answer: C

Watch Video Solution

11. In the isolation of metals, calcination process usually results in the

formation of

A. metal carbonate

B. metal oxide

C. metal sulphide

D. metal hydroxide

https://dl.doubtnut.com/l/_6ynXm9T2AqtW
https://dl.doubtnut.com/l/_aTYjVSRBD1aC


Answer: B

Watch Video Solution

12. Iron ore is reduced to iron by reaction with

A. calcium carbonate

B. carbon

C. carbon monoxide

D. carbon dioxide

Answer: C

Watch Video Solution

13. Calcination is used in metallurgy for removal of

https://dl.doubtnut.com/l/_aTYjVSRBD1aC
https://dl.doubtnut.com/l/_VJgoSXBlfaiW
https://dl.doubtnut.com/l/_icnLueeeP0ki


A. water and sulphide

B. 

C. 

D. water and 

Answer: D

Watch Video Solution

CO2 and H2S

H2O and H2S

CO2

14. In order to refine 'blister copper’it is melted in a furnace and is

stirred with green logs of wood. The purpose is

A. to expel the dissolved gases in blister copper

B. to bring the impurities to surface and oxidize them

C. to increase the carbon content of copper

D. to reduce the metallic oxide impurities with hydrocarbon gases

liberated from the wood.

https://dl.doubtnut.com/l/_icnLueeeP0ki
https://dl.doubtnut.com/l/_ueuJJ5SOKGv5


Answer: D

Watch Video Solution

15. Commercially, aluminium is obtained from purified aluminium

oxide by

A. electrolysis of aqueous 

B. electrolysis of aqueous 

C. electrolysis of a fused mixture of  and 

D. reduction with coke at high temperatures

Answer: C

Watch Video Solution

Al2(SO4)3

KAI(SO4)2

Al2O3 Na3AlF6

16. The form of iron obtained from blast furnace is

https://dl.doubtnut.com/l/_ueuJJ5SOKGv5
https://dl.doubtnut.com/l/_9ZAJg7QSQ6te
https://dl.doubtnut.com/l/_bcyE9Ds4twrX


A. steel

B. cast iron

C. pig iron

D. wrought iron

Answer: C

Watch Video Solution

17. Which one of the following ores is known as malachite?

A. 

B. 

C. 

D. 

Answer: D

Cu2O

Cu2S

CuFeS2

Cu(OH)2. CuCO3

https://dl.doubtnut.com/l/_bcyE9Ds4twrX
https://dl.doubtnut.com/l/_kKb7WAfDn8dv


Watch Video Solution

18. Which of the following statements is correct?

A. Anthracite and chalcocite are both ores of copper

B. Anthracite and chalcocite are both sulphide ores

C. Both German silver and horn silver have zero percent silver

content

D. Malachite and azurite are both basic copper carbonate

Answer: D

Watch Video Solution

19. Extraction of zinc from zinc blende is achieved by

A. electrolytic reduction

https://dl.doubtnut.com/l/_kKb7WAfDn8dv
https://dl.doubtnut.com/l/_OkivghVB8J0N
https://dl.doubtnut.com/l/_aeXDoTnJcHTj


B. roasting followed by reduction with carbon

C. roasting followed by reduction with another metal

D. roasting followed by self reduction

Answer: B

Watch Video Solution

20. Sulphide ores are common for the metals

A. Ag, Cu and Pb

B. Ag, Cu and Sn

C. Ag, Mg and Pb

D. Al, Cu and Pb

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aeXDoTnJcHTj
https://dl.doubtnut.com/l/_IWCK7GLgGffM


21. Which of the following metals can be obtained by thermal

decomposition of their oxides at attainable temperatures? Silver,

Mercury,
Gold,
All of these

A. Silver

B. Mercury

C. Gold

D. All of these

Answer: D

Watch Video Solution

22. For obtaining high purity metals, which of the following methods

of refining is preferred?

A. Poling

https://dl.doubtnut.com/l/_IWCK7GLgGffM
https://dl.doubtnut.com/l/_6Tp3HuYqWLtY
https://dl.doubtnut.com/l/_6p5XpSXPIbJz


B. Liquation

C. Zone refining

D. Electrolytic method

Answer: C

Watch Video Solution

23. The reaction  in the metallurgical

process of zinc is called

A. roasting

B. smelting

C. cupellation

D. calcination

Answer: A

2ZnS + 3O2 → 2ZnO + 2SO2

https://dl.doubtnut.com/l/_6p5XpSXPIbJz
https://dl.doubtnut.com/l/_ZJ0RDxKmgJiz


Watch Video Solution

24. Chemical reduction is not suitable for converting

A. zinc oxide into zinc

B. lead oxide into lead

C. bauxite into aluminium

D. haematite into iron

Answer: C

Watch Video Solution

25. Ellingham diagram can be drawn for which of the following?

A. Sulphides

B. Oxides

https://dl.doubtnut.com/l/_ZJ0RDxKmgJiz
https://dl.doubtnut.com/l/_tAcU78deaBaT
https://dl.doubtnut.com/l/_OATsKTQFsk4O


C. Halides

D. All of these

Answer: D

Watch Video Solution

26. Electrolytic reduction of alumina to aluminium by Hall-Heroult

process is carried out

A. in the presence of NaCI

B. in the presence of fluorite

C. in the presence of cryolite which forms a melt with lower

melting temperature

D. in the presence of cryolite which forms a melt with higher

melting temperature

https://dl.doubtnut.com/l/_OATsKTQFsk4O
https://dl.doubtnut.com/l/_J6igxOK0GNCq


Answer: C

Watch Video Solution

27. Van Arkel method of purification of metals involves converting the

metal to a

A. volatile stable compound

B. non-volatile stable compound

C. volatile unstable compound

D. non-volatile unstable compound

Answer: A

Watch Video Solution

28. Which of the following does not contain Mg?

https://dl.doubtnut.com/l/_J6igxOK0GNCq
https://dl.doubtnut.com/l/_bkE5GpJGjsHT
https://dl.doubtnut.com/l/_kEWwBq00B6PP


A. Magnetite

B. Magnesite

C. Asbestos

D. Camallite

Answer: A

Watch Video Solution

29. When a metal is to be extracted from its ore, if the gangue

associated with the ore is silica, then

A. a basic flux is needed

B. an acidic flux is needed

C. both(A) and (B)

D. neither of them is needed

https://dl.doubtnut.com/l/_kEWwBq00B6PP
https://dl.doubtnut.com/l/_WwX2x2mWlaxP


Answer: A

Watch Video Solution

30. Extraction of silver form 'Ag_2 ~S' by the use of soidum cyanide is

an example of

A. Roasting

B. Hydrometallurgy

C. Electrometallurgy

D. Smelting

Answer: B

Watch Video Solution

31. Which of the following processes involve the roasting process?

https://dl.doubtnut.com/l/_WwX2x2mWlaxP
https://dl.doubtnut.com/l/_mYe8QFm7qkHI
https://dl.doubtnut.com/l/_yg8zLHmDMsns


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ZnCO3 → ZnO + CO2

Fe3O3 + 3C → 2Fe + 3CO

2PbS + 3O2 → 2PbO + 2SO2

Al2O3.2H2O → Al2O3 + 2H2O

32. Magnetic separation is used for increasing concentration of the:

A. Hom silver

B. Calcite

C. Haematite

D. Magnesite

Answer: C

https://dl.doubtnut.com/l/_yg8zLHmDMsns
https://dl.doubtnut.com/l/_VYt8wPYmhyiO


Watch Video Solution

33. Which of the following factors is of no significance for roasting

sulphide ores to the oxides and not subjecting the sulphide ores to

carbon reduction directly?

A.  is more volatile than 

B. Metal sulphides are thermodynamically more stable than 

C.  is thermodynamically more stable than 

D. Metal sulphides are less stable than the corresponding oxides

Answer: B

Watch Video Solution

CO2 CS2

CS2

CO3 CS2

34. By which process Hg and Sn are extracted, respectively?

https://dl.doubtnut.com/l/_VYt8wPYmhyiO
https://dl.doubtnut.com/l/_swqEimTV5qPE
https://dl.doubtnut.com/l/_ruQe2XX8jeSt


A. Carbon reduction, self-reduction

B. Self-reduction, carbon reduction

C. Electrolytic reduction, cyanide process

D. Cyanide process, electrolytic reduction

Answer: B

Watch Video Solution

35. Extraction of Ag from commercial lead is possible by of

A. Parke's process

B. Clarke's process

C. Mc-Arthur Forest process

D. Electrolytic process

Answer: A

https://dl.doubtnut.com/l/_ruQe2XX8jeSt
https://dl.doubtnut.com/l/_ILePOoOWpcfa


Watch Video Solution

36. Spelter is

A. Impure zinc

B. Impure iron

C. Pure zinc

D. Impure aluminium

Answer: A

Watch Video Solution

37. Before introducing FeO in blast furnace, it is converted to 

by roasting so that

A. It may not be removed as slag with silica

Fe2O3

https://dl.doubtnut.com/l/_ILePOoOWpcfa
https://dl.doubtnut.com/l/_WY0gsIxU22iU
https://dl.doubtnut.com/l/_AKHSwo4LtCh5


B. Oresence of it may increase the melting point of charge

C. It may not evaporate in the furnace

D. None of the above

Answer: A

Watch Video Solution

38. Which method is not correct for refining of crude metals?

A. Liquation: tin

B. Zone refining: silicon

C. Electrolytic refining: blister copper

D. Mond's process : aluminium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AKHSwo4LtCh5
https://dl.doubtnut.com/l/_KNC3dagIebVo


39. Which of the following reactions taking place in the blast furnace

during extraction ofiron is endothermic?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaCO3 → CaO + CO2

2C + O2 → 2CO

C + O2 → CO2

Fe2O3 + 3CO → 2Fe + 3CO2

40. Which of the following factors is of no significance for roasting

sulphide ores to the oxides and not subjecting the sulphide ores to

carbon reduction directly?

A.  is more volatile than CO2 CS2

https://dl.doubtnut.com/l/_KNC3dagIebVo
https://dl.doubtnut.com/l/_AW0sqMh1MQvF
https://dl.doubtnut.com/l/_unF8lyzoLuJz


B. Metal sulphides are thermodynamically more stable than 

C. Metal sulphides are less stable than the corresponding oxides

D.  is thermodynamically more stable than 

Answer: B

Watch Video Solution

CS2

CO2 CS2

41. The incorrect statement is

A. Calamine and siderite are carbonates

B. Argentite and cuprite are oxides

C. Zinc blende and iron pyrites are sulphides

D. Malachite and azurite are ores of copper

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_unF8lyzoLuJz
https://dl.doubtnut.com/l/_KAmZsXCyWHiB


42. The process of isolation of metals by dissolving the ore in a

suitable chemical regent followed by precipitation of the metal by a

more electropositive metal is called

A. Electrometallurgy

B. Hydrometallurgy

C. Electro refining

D. Zone refining

Answer: B

Watch Video Solution

43. Thermite reduction is not used for commercial extraction of the

respective metal from which of the following oxides?

A. Mn3O4

https://dl.doubtnut.com/l/_KAmZsXCyWHiB
https://dl.doubtnut.com/l/_1JPbqVlNjf82
https://dl.doubtnut.com/l/_EZMwcrwuBN2e


B. 

C. 

D. 

Answer: C

Watch Video Solution

TiO2

Fe3O3

Cr2O3

44. The method of zone refining of metals is based on the principle of

A. greater noble character of the solid metal than that of the

impurity

B. greater solubility of the impurity in the molten metal than in

the solid

C. greater mobility of the pure metal than that of impurity

D. higher melting point of the impurity than that of the pure metal

https://dl.doubtnut.com/l/_EZMwcrwuBN2e
https://dl.doubtnut.com/l/_O46rdHpshpl4


Answer: B

Watch Video Solution

45. Which method is not correct for refining of crude metals?

A. Distillation : zinc and mercury

B. Liquation: tin

C. van Arkel : Zirconium

D. Mond process: lead

Answer: D

Watch Video Solution

46. Magistral is the burnt pyrites containing

https://dl.doubtnut.com/l/_O46rdHpshpl4
https://dl.doubtnut.com/l/_OlrDeXxNzRJy
https://dl.doubtnut.com/l/_DMBPr5EuEmwL


A. sulphates of iron and copper

B. sulphates and oxides of iron and copper

C. oxides of iron and copper

D. sulphides of silver and lead

Answer: B

Watch Video Solution

47. Gold is extracted by hydrometallurgical process based on its

property

A. of being electropositive

B. of being less reactive

C. to form complexes which are water soluble

D. to form salts which are water soluble

https://dl.doubtnut.com/l/_DMBPr5EuEmwL
https://dl.doubtnut.com/l/_mjIRj8woOCIN


Answer: C

Watch Video Solution

48. The final step for the extraction of copper from copper pyrites in

Bessemer converter involves the reaction (1) Cu_2S + 2FeO→2Cu + 2Fe

+SO_2
 (2) Cu_2S + 2Cu2_ O → 6Cu+SO2
 (3) 4Cu_2 O +Fe S → 8Cu +

2FeSO4
(4) 2Cu_2 O + FeS → 4Cu + Fe + SO2

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2S + 2FeO → 2Cu + 2Fe + SO2

Cu2S + 2Cu2O → 6Cu + SO2

4Cu2O + FeS → 8Cu + 2FeSO4

2Cu2O + FeS → 4Cu + Fe + SO2

https://dl.doubtnut.com/l/_mjIRj8woOCIN
https://dl.doubtnut.com/l/_j7mBOhfhddnQ
https://dl.doubtnut.com/l/_kTxfRuIu7yT8


49. Which of the following statement is incorrect?

A. Pure aluminium oxide is obtained by heating aluminium

hydroxide

B. Cryolite lowers down the melting point of bauxite in electrolytic

cell for extraction of aluminium

C. Carbonate ores are converted into oxides by roasting in air

D. Mercury cannot be produced by roasting the cinnabar ore in air

Answer: C

Watch Video Solution

50. The chief impurity present in red bauxite is (1) SiO2
(2) Fe_2 O_3
(3)

K2SO4
(4) NaF

A. SiO2

https://dl.doubtnut.com/l/_kTxfRuIu7yT8
https://dl.doubtnut.com/l/_IjzRN4RxY0nK


Level Ii

B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe2O3

K2SO4

NaF

1. Extraction of gold and silver involves leaching the metal with 

ion. The metal is recovered by (1) Displacement of metal by some

other metal from the complex ion
 (2) Roasting of metal complex
 (3)

Calcination followed by roasting
 (4) Thermal decomposition of metal

complex

CN −

https://dl.doubtnut.com/l/_IjzRN4RxY0nK
https://dl.doubtnut.com/l/_3d86lQdSwlcS


A. displacement of metal by some other metal from the complex

ion

B. roasting of metal complex

C. calcination followed by roasting

D. thermal decomposition of metal complex

Answer: A

Watch Video Solution

2. When copper ore is mixed with silica in a reverberatory furnace,

copper matte is produced. The copper matte contains..........

A. sulphides of copper (III) and iron (II)

B. sulphides of copper (II) and iron (III)

C. sulphides of copper (I) and iron (II)

D. sulphides of copper (I) and iron (III)

https://dl.doubtnut.com/l/_3d86lQdSwlcS
https://dl.doubtnut.com/l/_6iF7PiQXmaLP


Answer: C

Watch Video Solution

3. In the modern blast furance, the charge consists of a mixture of

A. iron pyrites + bituminous coal

B. hydrated iron oxide +dolomite + coke

C. calcined iron oxides + limestone + coke

D. calcined iron oxides +lime + anthracite coal

Answer: C

Watch Video Solution

4. "Native silver metal forms a, water soluble complex with a dilute

aqueous solntion of NaCN in the presence of

https://dl.doubtnut.com/l/_6iF7PiQXmaLP
https://dl.doubtnut.com/l/_jfuvXApWvobp
https://dl.doubtnut.com/l/_YC1ndqsd7A55


A. nitrogen

B. oxygen

C. carbon dioxide

D. argon

Answer: B

Watch Video Solution

5. Among the following groups of oxides, the group containing oxides

that cannot be reduced by carbon to give the respective metals is

A. 

B. 

C. 

D. 

Cu3O, K2O

PbO, Fe3O4

Fe2O3, ZnO

CaO, K2O

https://dl.doubtnut.com/l/_YC1ndqsd7A55
https://dl.doubtnut.com/l/_fepgpNUsAMUu


Answer: D

Watch Video Solution

6. In the cyanide extraction process of silver from argentite ore, the

oxidising and reducing agents are

A.  respectively

B.  and Zn respectively

C.  and Zn dust respectively

D.  and CO respectively

Answer: B

Watch Video Solution

O2 and CO

O2

HNO3

HNO3

https://dl.doubtnut.com/l/_fepgpNUsAMUu
https://dl.doubtnut.com/l/_eGbYR0TZ45fw


7. The statement that is NOT correct is that (1) A furnace lined with

haematite is used to convert cast iron to wrought iron.
 (2) Collectors

enhance the wettability of mineral particles during froth floatation.
 (3)

In vapour phase refining, metal should form a volatile compound.
 (4)

Copper from its low-grade ores is extracted by hydrometallurgy.

A. a furnace lined with haematite is used to convert cast iron

B. collectors enhance the wettability of mineral particles during

froth floatation.

C. in vapour phase refining, metal should form a volatile

compound.

D. copper from its low grade ores is extracted by hydrometallurgy.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kx3DaSS2zmGM


8. Which step is not involved in hydrometallurgical process?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cu2S + 2Cu2O → 6Cu + SO2

CuFeS2 + 2H2SO4 → CuSO4 + FeSO4 + 2H2S

CuSO4 + Fe → FeSO4 + Cu

CuCO3 + H2SO4 → CuSO4 + H2O + CO2

9. Reduction of a metal oxide by excess carbon at high temperature is

a method for the commercial preparation of some metals. This

method can be successfully applied in the case of

A. 

B. 

BeO and Al2O3

ZnO and Fe3O3

https://dl.doubtnut.com/l/_sr16YAHv6GWd
https://dl.doubtnut.com/l/_HCntaBgnEzEN


C. 

D. 

Answer: B

Watch Video Solution

CaO and Cr2O3

BaO and U3O8

10. Carbon can reduce ferric oxide to iron at a temperature above 983

K because

A. carbon monoxide formed is thermodynamically less stable than

ferric oxide

B. carbon has a higher affinity towards oxygen than iron

C. free energy change for the formation of carbon dioxide is less

negative than that for ferric oxide

D. iron has a higher affinity towards oxygen than carbon

https://dl.doubtnut.com/l/_HCntaBgnEzEN
https://dl.doubtnut.com/l/_xEdH7P4vqaa7


Answer: B

Watch Video Solution

11. Consider the following reaction,  alloy 

 


Select the correct statement(s) based on above scheme. (1) Layer X

contains zinc and silver
 (2) Layer Y contains lead and silver but

amount of silver in this layer is smaller than in the layer X
(3) X and Y

are immiscible layers
(4) All of the above are correct statements

A. Layer X contains zinc and silver

B. Layer Y contains lead and silver but amount of silver in this layer

is smaller than in the layer X

C. X and Y are immiscible layers

D. All of the above are correct statements

(Ag + Pb)

Melt and add zinc
−−−−−−−−−→ (Ag + Pb + Zn)melt 

Cool
−−→

Layer X

Layer Y

https://dl.doubtnut.com/l/_xEdH7P4vqaa7
https://dl.doubtnut.com/l/_CbRMykXB2PAj


Answer: D

Watch Video Solution

12. Consider the following metallurgical processes in 

1. Heating impure metal with  and distilling the resulting volatile

carbonyl boiling point  and finally decomposing at  to 

 to get the pure metal. 


II. Heating the sulphide ore in air until a part is converted to oxide and

then further heating in the absence of air to let the oxide react with

unchanged sulphide. 

III. Electrolysing the molten electrolyte containing approximately

equal amounts of the metal chloride and  to obtain the metal.

The processes used for obtaining sodium, nickel and copper are

respectively

A. I, II and III

B. II,III and I

CO

43∘C 150∘

200∘C

CaCl2

https://dl.doubtnut.com/l/_CbRMykXB2PAj
https://dl.doubtnut.com/l/_lALST9Jja4SN


C. III, I and II

D. II,I and III

Answer: C

Watch Video Solution

13. During the concentration of sulphide ores by froth floatation

process, the separation of sphalerite and galena is achieved by which

of the following substances used as depressant?

A. Potassium xanthate

B. Sodium cyanide

C. Copper sulphate

D. Pine oil

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_lALST9Jja4SN
https://dl.doubtnut.com/l/_9EeeSsTEfZoY


Watch Video Solution

14. Which of the following factors is of no significance for roasting

sulphide ores to the oxides and not subjecting the sulphide ores to

carbon reduction directly?

A. Metal sulphides are thermodynamically more stable than 

B.  is thermodynamically more stable than 

C. Metal sulphides are less stable than the corresponding oxides

D.  is more volatile than 

Answer: C

Watch Video Solution

CS2

CO2 CS2

CO2 CS2

15. Identify M and N in the following reaction. 

Copper glance  

controlled heating

−−−−−−−−−−→ M + SO2

↑⏐⏐

M
N

−−→ Cu + SO2
↑⏐⏐

https://dl.doubtnut.com/l/_9EeeSsTEfZoY
https://dl.doubtnut.com/l/_Et05e7g2EZb2
https://dl.doubtnut.com/l/_SQlduyE6yAZY


A.  = Self reduciton

B.  = only heating

C.  = carbon reduction

D. Electrolytic reduciton

Answer: B

Watch Video Solution

M + CuO, N

M = Cu2O + Cu2S, N

M = Cu2O, N

M = Cu2O, N =

16. Which method of purification is represented by the equations.

 : Cupellation,

Poling,
van Arkel,
Zone refining

A. Zone refining

B. Cupellation

C. Poling

D. van arkel

Ti(s) + 2I2(g)
523K

−−→ TiI4(g)
1700K

−−−→ Ti(s) + 2I2(g)

https://dl.doubtnut.com/l/_SQlduyE6yAZY
https://dl.doubtnut.com/l/_bvH9cm1Slg5s


Answer: D

Watch Video Solution

17. In the context of the Hall-Heroult process for the extraction of Al,

which of the following statement is false?

A.  is mixed with  which lowers the melting point of

the mixture and brings conductivity.

B.  is reduced at the cathode to form Al.

C.  serves as the electrolyte

D. CO and  are produced in this process.

Answer: C

Watch Video Solution

Al2O3 CaF2

Al+ 3

Na2AlF6

CO2

https://dl.doubtnut.com/l/_bvH9cm1Slg5s
https://dl.doubtnut.com/l/_bt1QDqatcGeH


18. Which of the following statements is correct?

A. Slag is carefully chosen to combine with the flux present in the

ore to produce easily fusible gangue to carry away the

impurities.

B. Gangues are carefully chosen to combine with the slag present

in the ore to produce easily fusible flux to carry away the

impurities.

C. Gangues are carefully chosen to combine with flux present in

the ore to produce easily fusible slagt carry away the impurities.

D. Fluxes are carefully chosen to combine with the gangue present

in the ore to produce easily fusiblesla to carry away the

impurities.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_vqF1AZVVt2Bi


Watch Video Solution

19. Froth floatation method is successful in separating impurities from

ores because
(1) The pure ore is soluble in water containing additives

like pine oil, cresylic acid, etc.
 (2) The pure ore is lighter than water

containing additives like pine oil, cresylic acid, etc.
 (3) The impurities

are soluble in water containing additives like pine oil, cresylic acid, etc.

(4) The pure ore is not easily wetted by water as by pine oil, cresylic

acid, etc.

A. the pure ore is soluble in water containing additives like pine oil,

cresylic acid, etc.

B. the pure ore is lighter than water containing additives like pine

oil, cresylic acid, etc.

C. the impurities are soluble in water containing additives like pine

oil, cresylic acid, etc.

https://dl.doubtnut.com/l/_vqF1AZVVt2Bi
https://dl.doubtnut.com/l/_WAkSeOo4NgAo


D. the pure ore is not easily wetted by water as by pine oil, cresylic

acid, etc.

Answer: D

Watch Video Solution

20. The final step for the extraction of copper from copper pyrites in

Bessemer converter involves the reaction (1) Cu_2S + 2FeO→2Cu + 2Fe

+SO_2
 (2) Cu_2S + 2Cu2_ O → 6Cu+SO2
 (3) 4Cu_2 O +Fe S → 8Cu +

2FeSO4
(4) 2Cu_2 O + FeS → 4Cu + Fe + SO2

A. 

B. 

C. 

D. 

Answer: A

Cu2 + 2Cu2O → 6Cu + SO2

4Cu2S + FeS → 8Cu + FeSO4

2Cu2O + FeS → 4Cu + Fe + SO2.

Cu2S + 2FeO → 2Cu + 2FeCO + SO2

https://dl.doubtnut.com/l/_WAkSeOo4NgAo
https://dl.doubtnut.com/l/_WjgOWCeJtp6P


Watch Video Solution

21. When the sample of Cu with Zn impurity is to be purified by

electrolysis, the appropriate electrodes are

Watch Video Solution

22. Which of the following combination represents the correct

matching of metals with the most commonly employed ores for their

extraction? .

Watch Video Solution

23.  plot in the Ellingham's diagram slopes downward for

the reaction : , ,

 , 

ΔG∘
' V s. T

Mg + 2O2 → MgO 2Ag + O2 → Ag2O
1

2

C + O2 → CO
1

2
CO + O2 → CO2

1

2

https://dl.doubtnut.com/l/_WjgOWCeJtp6P
https://dl.doubtnut.com/l/_gMhulAilfIJ1
https://dl.doubtnut.com/l/_IVDhjCCQpqr9
https://dl.doubtnut.com/l/_iTufNdTvDDmo


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Mg + O2 → MgO
1

2

2Ag + O2 → Ag2O
1

2

C + O2 → CO
1

2

CO + O2 → CO2

1

2

24. Bauxite ore consists of . This ore is

treated with conc.  solution at 500 K and 35 bar pressure for a

few hours and filtered out. In the filtrate, the species present are

A.  only

B.  only

C. NaAl  and  both

D.  only

Al2O3, SiO2, TiO2, Fe2O3

NaOH

NaAl(OH)4

Na2Ti(OH)6

(OH)4 Na2SiO3

Na2SiO3

https://dl.doubtnut.com/l/_iTufNdTvDDmo
https://dl.doubtnut.com/l/_ofdqHiiQKpDe


Answer: C

Watch Video Solution

25. When copper pyrites is roasted, the flux added to form slag is

A.  which is an acidic flux

B. Limestone, which is a basic flux

C. , which is a basic flux

D. Cao, which is basic flux

Answer: A

Watch Video Solution

SiO2

SiO2

26. Four metals and their methods of refinement are given 

i) Ni, Cu, Zr, Ga

https://dl.doubtnut.com/l/_ofdqHiiQKpDe
https://dl.doubtnut.com/l/_UIsgNOMl9t5K
https://dl.doubtnut.com/l/_8tLNdGZ0mzoA


ii) Electrolysis, Van Arkel process, Zone refining, Mond's process 

Choose the right method for each:

A. Ni: Electrolysis, Cu: Van Arkel process, Zr: Zone refining, Ga:

Mond's process

B. Ni: Mond's process, Cu: Electrolysis, Zr: Van Arkel process,

Ga:Zone refining

C. Ni: Mond's process, Cu: Van Arkel process, Zr: Zone refining, Ga:

Electrolysis

D. Ni: Electrolysis, Cu:Zone refining, Zr: Van Arkel process, Ga:

Mond's process

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8tLNdGZ0mzoA


27. Carbon reduction process is not commercially applicable for which

of the following set of oxides to extract the respective metal? 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I)ZnO    II)Fe2O3     III)Al2O3     IV )SnO2     V )MgO

ZnO, Fe2O3, SnO2

ZnO, SnO

MgO, Al2O3

SnO, Fe2O3

28. Which of the following is incorrect on the basic of the given

Ellingham diagram for carbon ? 

https://dl.doubtnut.com/l/_RPwDU41jgYXK
https://dl.doubtnut.com/l/_f9bOp7FMIz9t


A. A) Up  C, the reaction of formation of  is energetically

more favourable but above  the formation of  is

preferred.

B. B) In principle, carbon can be used to reduce any metal oxide at

a sufficiently high temperature.

C. C) 

D. D) Carbon reduces many oxides at elevated temperature

because  vs temperature line has a negative slope.

Answer: C

Watch Video Solution

710∘ CO2

710∘ CO

ΔS[Cs + 1/2O2 ( g ) → COg] < ΔS[Cs + O2 → CO2 ( g ) ]

ΔrG
Θ

https://dl.doubtnut.com/l/_f9bOp7FMIz9t


29. Formation of  and subsequent its decomposition into Ni

and CO (recycled) makes the basis of Mond's process 

 


 are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ni(CO)4

Ni + 4CO
T1

−−→ Ni(CO)4

T2

−−→ Ni + 4CO

T1 and T2

100∘C, 50∘C

50∘C, 100∘C

50∘C, 180∘C

230∘C, 50∘C

30. Following reaction is not involved in Thermite process

A. 3Mn3O4 + 8AI → 9Mn + 4Al2O3

https://dl.doubtnut.com/l/_NK03bJwB5B5v
https://dl.doubtnut.com/l/_enDSDRe93Q45


B. 

C. 

D. 

Answer: C

Watch Video Solution

Cr2O3 + 2Al → Al2O3 + 2Cr

2Fe + Al2O3 → 2Al + Fe2O3

B2O3 + 2Al → 2B + Al2O3

31. Consider the following steps 

Which is not the correct

statement?

A. It is self - reduction

B. It involves disproportionation 

C. (A) is a mixture of CuO and CuS and (B) is a mixture of Cu and

D. All are incorrect statements

CuS
roast in air

−−−−−→ (A)
roast without air

−−−−−−−−−→ (B)

Cu2S → Cu + CuS

SO2

https://dl.doubtnut.com/l/_enDSDRe93Q45
https://dl.doubtnut.com/l/_5QQx417hoTyM


Answer: B

Watch Video Solution

32. NaCN is sometimes added in the froth flotation process as a

depressant when ZnS and PbS minerals are expected because

A.  is precipitated while no effect as ZnS

B. ZnS forms solube complex  while Pbs forms

froth

C. PbS forms soluble complex  whicle ZnS forms

froth

D.  is never added in froth flotation process

Answer: B

Watch Video Solution

Pb(CN)2

Na2[Zn(CN)4]

Na2[Pb(CN)4]

NaCN

https://dl.doubtnut.com/l/_5QQx417hoTyM
https://dl.doubtnut.com/l/_l8yPBXFKs8tM


33. At what approximate temperature, zinc and carbon have equal

affinity for oxygen?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1000∘C

15000∘C

500∘C

1200∘C

34. At 1000 degree celsius temperature  of the reaction is 

A. 

B. 

ΔfG
Θ

ZnO + C → Zn + CO

−ve

+ve

https://dl.doubtnut.com/l/_oLIZx3mY41FN
https://dl.doubtnut.com/l/_cK7XI1j4EhNT


C. zero

D. Nothing can be said

Answer: C

Watch Video Solution

35. To make the following reduction process spontaneous,

temperature should be: 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ZnO + C → Zn + CO

< 1000∘C

> 1000∘C

< 500∘C

> 500∘Cbut < 1000∘C

https://dl.doubtnut.com/l/_cK7XI1j4EhNT
https://dl.doubtnut.com/l/_36cAdpkpeFfF


Watch Video Solution

36. The principal reaction(s) in the zone of heat absorption of blast

furnace employed in the metallurgy of iron is/are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C + O2 → CO2

2C + O2 → 2CO

2CO + O2 → 2CO2

CaCO3

−CO2

−−−→ CaO
Sio2

−−→ CaSiO3

37. Which of the following statements regarding the metallurgy of

aluminium by electrolytic method is not correct?

https://dl.doubtnut.com/l/_36cAdpkpeFfF
https://dl.doubtnut.com/l/_ixIKzvHThfkx
https://dl.doubtnut.com/l/_UcAcGtFj06Qw


A. Electrolyte is  dissolved in  containing a little of 

B. Anode consists of a number of graphite rods which are

periodically replaced

C. Aluminium being heavier than electrolyte floats over the surface

of the latter

D. Bauxite ore is purified before carrying out the electrolysis

Answer: C

Watch Video Solution

Al2O3 Na3AlF6

CaF2

38. The impure zinc contains impurities such as cadmium, arsenic, iron

and lead. From this, zinc may be recovered by

A. distillation at 500K

B. distillation at 1170K - 1270 K followed by rapid chilling

https://dl.doubtnut.com/l/_UcAcGtFj06Qw
https://dl.doubtnut.com/l/_mzRxMWe4aSAG


C. distillation at 3100K

D. solvent extraction method

Answer: B

Watch Video Solution

39. In zone refining method, the molten zone.

A. contains impurities

B. contains purified metal only

C. contains more impurity than the original metal

D. moves to either side

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mzRxMWe4aSAG
https://dl.doubtnut.com/l/_VG2EJqYr3r4S
https://dl.doubtnut.com/l/_3M4LNworflTb


40. The metal that cannot be obtained by electrolysis of the aqueous

solution of its salts is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cr

Ag

Ca

Cu

41. Which of the following curves assures that the metal obtained by

carbon reduction is in the vapour state?

A. 

https://dl.doubtnut.com/l/_3M4LNworflTb
https://dl.doubtnut.com/l/_3IzR1ijE0a3P


B. 

C. 

D. 

Answer: B

Watch Video Solution

42. Which of the following characteristics of steel are developed by

the tempering process?

A. Steel becomes hard and brittle

B. Steel becomes soft

https://dl.doubtnut.com/l/_3IzR1ijE0a3P
https://dl.doubtnut.com/l/_1HrGRucFaagr


C. Steel remains hard but brittleness disappears

D. Only the surface layer becomes hard

Answer: C

Watch Video Solution

43. Which of the following statements is correct regarding self

reduction?

A. Partial roasting and self reduction occur together

B. First self reduction occurs followed by partial roasting

C. First partial roasting occurs followed by self reduction

D. Partial roasting is done in the reverberatory furnace first, and

then selfreduction is done in the blast furnace

Answer: C

https://dl.doubtnut.com/l/_1HrGRucFaagr
https://dl.doubtnut.com/l/_GiYiHDGTuPaw


Watch Video Solution

44. Which of the following activities is not related to poling?

A. Metallic impurities having higher oxidation potential than the

metal to be refined are oxidized first.

B. Non-volatile oxides are removed in the form of scum.

C. Metallic impurities having lower oxidation potential than the

metal to be refined settle down at the bottom of the furnace.

D. Green poles of wood are used as stirrers

Answer: C

Watch Video Solution

45. Carbon reduction cannot be employed for the extraction of 

from  because

Al

Al2O3

https://dl.doubtnut.com/l/_GiYiHDGTuPaw
https://dl.doubtnut.com/l/_mxvPCOnqT0TB
https://dl.doubtnut.com/l/_y8rZIfaxaUZP


A. the temperature requirement is very high .

B. Al obtained in the vapour state is very difficult to handle.

C. Al forms its carbide  and a lot of it gets wasted

D. All of these

Answer: D

Watch Video Solution

(~2000∘C)

(Al4C3)

46. Oxidation states of the metal in the minerals haematite and

magnetite, respectively, are

A. II, III in haematite and III in magnetite.

B. II, III in laematite and II in magnetite.

C. II in haematite and II and III in magnetite.

D. III in haematite and II and III in magnetite.

https://dl.doubtnut.com/l/_y8rZIfaxaUZP
https://dl.doubtnut.com/l/_gFozLxnpmXh5


Level Iii Single Correct Answer Type

Answer: D

Watch Video Solution

47. Roasted copper pyrite is on smelting with sand produces

A.  as fusible slag and  as matte

B.  as infusible slag and  as matte

C.  as fusible slag and  as matte

D.  as infusible slag and  as matte

Answer: A

Watch Video Solution

FeSiO3 Cu2S

CaSiO3 Cu2O

Ca2(PO4)3 Cu2S

Fe3(PO4)2 Cu2S

https://dl.doubtnut.com/l/_gFozLxnpmXh5
https://dl.doubtnut.com/l/_FTDi3995JPCE


1. The major role of fluorspar , which is added in small

quantities in the electrolytic reduction of alumina dissolved in fused

cryolite , is

A. As a catalyst

B. To make the fused mixture very conducitng

C. To increase the temperature of the melt

D. To decrease the rate of oxidation of carbon at the anode

Answer: B

Watch Video Solution

(CaF2)

(Na3AIF6)

2. In the proces of extraction of gold, 

Roasted ore +  


 


[X] and [Y] respectively are:

CN − + H2O
O2

−−→ [X] + OH −

[X] + Zn → [Y ] + Au

https://dl.doubtnut.com/l/_DewGEOyGvHKp
https://dl.doubtnut.com/l/_IVcftKI5N3EQ


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

X = [Au(CN)2]
ѳ

, Y = [Zn(CN)4]
2 −

X = [Au(CN)2]
3 −

, Y = [Zn(CN)4]
2 −

X = [Au(CN)2]
ѳ

, Y = [Zn(CN)6]
4 −

X = [Au(CN)4]
ѳ

, Y = [Zn(CN)4]
2 −

3. Copper is extracted from copper pyrites, .What is matte?

How is it formed?

A. iron has less affinity for oxygen than sulphur at high

temperature

B. sulphur has less affinity for oxygen at high temperature

C. copper has more affinity for oxygen than sulphur at high

temperature

CuFeS2

https://dl.doubtnut.com/l/_IVcftKI5N3EQ
https://dl.doubtnut.com/l/_bmpB6qo3Agw5


D. copper has less affinity for oxygen than sulphur at high

temperature

Answer: D

Watch Video Solution

4. The plot shows the variation of - In  versus temperature for the

two reactions. 

 


 

Identify the correct statement ,

Kp

M(s) + O2(g) → MO(s) and C(s) + O2(g) → CO(s)
1

2

1

2

https://dl.doubtnut.com/l/_bmpB6qo3Agw5
https://dl.doubtnut.com/l/_LsBdR3WMQrJI


A. At  oxidation of carbon is unfavourable.

B. Oxisation of carbon is favourable at all temperature.

C. At  K, the reaction 

is spontaneous.

D. At  carbon will reduce MO(s) to M(s) .

Answer: C

Watch Video Solution

T < 1200K

T < 1200 MO(s) + C(s) → M(s) + CO(g)

T > 1200K,

5. Which series of reactions correctly relate to iron and its compounds

?

A. 

B. 

C. 

D. 

Fe
Cl2heat
−−−→ FeCl3

heat,air
−−−→ FeCl2

Zn
−−→ Fe

Fe
O2heat
−−−→ Fe3O4

CO . 600 ∘C
−−−−−−→ FeO

CO.700 ∘C
−−−−−→ Fe

Fe
dilH2SO4

−−−−−→ FeSO4

H2SO4 .O2

−−−−−→ Fe2(SO4)3

heat
−−→ Fe

Fe
O2heat
−−−→ FeO

dilH2SO4

−−−−−→ FeSO4

heat
−−→ Fe

https://dl.doubtnut.com/l/_LsBdR3WMQrJI
https://dl.doubtnut.com/l/_c5CfAkOvr3nU


Level Iii Multiple Correct Answer Type

Answer: B

Watch Video Solution

1. Which of the following are oxide ores?

A. Cassiterite

B. Bauxite

C. Cryolite

D. Haematite

Answer: A::B::D

Watch Video Solution

https://dl.doubtnut.com/l/_c5CfAkOvr3nU
https://dl.doubtnut.com/l/_N8u73n0pyHKg


2. Copper is purified by electro-refining of blister copper. The correct

statement(s) about this process is (are)

A. Impure copper strip is used as cathode

B. Acidified aqueous  is used as electrolyte

C. Pure copper is deposited at cathode

D. Impurities settle as anode-mud

Answer: B::D

Watch Video Solution

CuSO4

3. Extraction of metal from the ore cassiterite involves

A. Carbon reduction of an oxide ore

B. Self-reduction of sulphide ore

C. Removal of copper impurity

https://dl.doubtnut.com/l/_BK2UHQsj1upZ
https://dl.doubtnut.com/l/_rdF8UYTxvKNO


D. Removal of iron impurity

Answer: A::D

Watch Video Solution

4. The carbon-based reduction method is NOT used for the extraction

of

A. Tin from 

B. Iron from 

C. Aluminium from 

D. Magnesium from 

Answer: C::D

Watch Video Solution

SnO2

Fe2O3

Al2O3

MgCO3. CaCO3

https://dl.doubtnut.com/l/_rdF8UYTxvKNO
https://dl.doubtnut.com/l/_pb53AuCMRycM
https://dl.doubtnut.com/l/_LFtjSyjEqjpz


5. Which of the following are correctly matched?

A. Malachite : 

B. Chalcopyrite : 

C. Copper glance : 

D. Azurite : 

Answer: A::B::C

Watch Video Solution

CuCO3. Cu(OH)2

CuFeS2

Cu2S

Cu2O

6. Which of the following pairs consists of ore of the same metal?

A. Magnesite, cerussite

B. Chalcocite, copper pyrites

C. Bauxite, corundum

D. Anglesite, cerussite

https://dl.doubtnut.com/l/_LFtjSyjEqjpz
https://dl.doubtnut.com/l/_lqUx9jHpUskI


Answer: B::C::D

Watch Video Solution

7. For the pyrometallurgical method used for the extraction of copper

from sulphide ore, which statements is/are correct?

A. Pyrometallurgy is a dry method

B. It involves concentration by leaching the sulphide ore with dil.

C. It involves concentration of the sulphide ore by froth flotation

process

D. It involves concentration by leaching the ore

Answer: A::C

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_lqUx9jHpUskI
https://dl.doubtnut.com/l/_jz0Kl88Yw3Sp


8. Select the correct statements:

A. In hydrometallurgy, Zn is used as oxidising agent in the

purification of Ag from 

B. When pine oil or eucalyptus oil is added into the water, it lowers

down the surface tension by which froth is formed

C. Sodium ethylxanthate is used as collector

D. Basic copper carbonate or  is concentrated by froth

floatation method by using an activator

Answer: B::C::D

Watch Video Solution

[Ag(CN)2]
ѳ

PbSO4

9.  is not widely used as the reducing agent in metallurgical

process because

H2

https://dl.doubtnut.com/l/_5QdmXyjj35tt
https://dl.doubtnut.com/l/_KcN5RpGBjFKK


A. Many metals react with H, at elevated temperature forming

hydrides

B. There is a risk of explosion from  and  present in the air

C. Reducing power of  does not increase with temperature

D. Reducing power of  increases with temperature

Answer: A::B::C

Watch Video Solution

H2 O2

H2

H2

10. Extraction of copper from copper pyrites  involves

A. crushing followed by concentration of the ore by froth-

floatation.

B. removal of iron as slag.

(CuFeS2)

https://dl.doubtnut.com/l/_KcN5RpGBjFKK
https://dl.doubtnut.com/l/_xvE9lmtKlxdY


C. self-reduction step to produce 'blister copper 'following

evolution of 

D. refining of 'blister copper by carbon reduction.

Answer: A::B::C

Watch Video Solution

SO2

11. Which are the byproducts of iron extraction?

A. Slag

B. Pig iron

C. Wrought iron

D. Blast furnace gas

Answer: A::D

Watch Video Solution

https://dl.doubtnut.com/l/_xvE9lmtKlxdY
https://dl.doubtnut.com/l/_5F7Z60sIZ0in


Level Iii Numerical Type

1. Amongst the following, the total number of ores which cannot be

concentrated by froth floatation process is ............ 

Haematite, bauxite, galena, copper pyrites, sphalerite, cassiterite,

calmine, argentite, chalcocite.

Watch Video Solution

2. Amongst the following, the total number of metals which occur in

the native state in the earth's crust is ...............

Fe,Zn,Na,Au,Ni,Sb,Sn,Pt,Hg.

Watch Video Solution

https://dl.doubtnut.com/l/_5F7Z60sIZ0in
https://dl.doubtnut.com/l/_W3szDYqKdkOV
https://dl.doubtnut.com/l/_M1MkHrsubPe0


3. How many cyanide ions are involved in the following chemical

equation? 

Watch Video Solution

Au + CN ѳ + H2O + O2 → [Au(CN)2]
ѳ

+
ѳ

OH

4. How many of the following metals are commercially purified by Van

Arkel method? 

Ti,B,Zr,Pb , Hg,Zn,Au,Si,Ge

Watch Video Solution

5. How many of the following reactions are roasting? 

i)  


ii)  


iii)  


4FeS2 + 11O2 → 2Fe2O3 + 8SO2

2PbS + 3O2 → 2PbO + 2SO2

HgS + O3 → Hg + SO2

https://dl.doubtnut.com/l/_hQwrOtxkIRfE
https://dl.doubtnut.com/l/_IleD7tU5iY7f
https://dl.doubtnut.com/l/_mBnI7fBriUt4


(iv)  


(v) 

Watch Video Solution

Al2O3.2H2O → Al2O3 + 2H2O

ZnCO3

Δ
−−→ 4ZnO + CO2

↑⏐⏐

6. Amongst the following, how many ores are roasted to convert them

into their corresponding metal oxides: alumina, zinc blende, iron

pyrites, copper pyrites, galena.

Watch Video Solution

7. Find the number of basic flux from the given compounds: 

Watch Video Solution

SiO2, MgO, CaO, FeO, CaCO3

https://dl.doubtnut.com/l/_mBnI7fBriUt4
https://dl.doubtnut.com/l/_YWQirtbRoxZy
https://dl.doubtnut.com/l/_VLkcbZwysnJd


Level Iii Matching Column Type

8. Find the number of metals from the given metals which can be

commercially purified by zone refining methods: 

Si, Ge,Ga,Al,Ti,Zr.

Watch Video Solution

9. Find the number of metals which are reduced by self-reduction from

the given metals: 

Fe,Al,Zn,Sn,Pb,Hg,Cu

Watch Video Solution

https://dl.doubtnut.com/l/_pimuWFdgdMX6
https://dl.doubtnut.com/l/_jwaFsQhS3NhJ


1. Matching Column Type 

Watch Video Solution

2. Matching Column Type 

Watch Video Solution

https://dl.doubtnut.com/l/_ith6KguXENBN
https://dl.doubtnut.com/l/_NSYbdpaH3W2t


3. Matching Column Type 

Watch Video Solution

4. Matching Column Type 

Watch Video Solution

https://dl.doubtnut.com/l/_iKWDwJkuXrAf
https://dl.doubtnut.com/l/_Xkr9nyC2LHQK


Level Iii Statement Type

5. Matching Column Type 

Watch Video Solution

6. Matching Column Type 

Watch Video Solution

https://dl.doubtnut.com/l/_R37gO9IYTIBS
https://dl.doubtnut.com/l/_e0cVaGRlfjWu


1. Statement 1: PbS when heated with air it undergoes self-reduction. 

Statement 2 : The PbO that is formed on heating PbS reacts further

with PbS to yield Pb and 

A. Statement 1 is True, Statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

SO2

2. Statement 1 : Highly electropositive metals are extracted by

electrolysis of their fused salts. 

https://dl.doubtnut.com/l/_9GWiUUL0ShsN
https://dl.doubtnut.com/l/_2ocMrur824tr


Statement 2 : Highly electropositive metals can not be reduced by

chemical reduction methods.

A. Statement 1 is True, Statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

3. Statement 1: Limestone added in the blast furnace decomposes to

give CaO which forms slag in molten state and separates out from

iron. 

https://dl.doubtnut.com/l/_2ocMrur824tr
https://dl.doubtnut.com/l/_60zksAyjR798


Statement 2 : The iron obtained from the blast furnace contains

about 4% carbon and many impurities like S, P, Si, Mn, etc.

A. Statement 1 is True, Statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: B

Watch Video Solution

4. Assertion : During the reduction of  to is more efficient

than CO. 

ZnO Zn, C

https://dl.doubtnut.com/l/_60zksAyjR798
https://dl.doubtnut.com/l/_TyyNw38i83hD


Reason : The standard free energy of formation of  from  is

always higher than that of ZnO.

A. Statement 1 is True, Statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: B

Watch Video Solution

CO2 CO

5. Assertion : Reduction of the metal oxide usually involves heating it

with some other substance acting as a reducing agent. 

https://dl.doubtnut.com/l/_TyyNw38i83hD
https://dl.doubtnut.com/l/_LjcIZcR3zcLJ


Reason : The reducing agent combines with the oxygen of the metal

oxide.

A. Statement 1 is True, Statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

6. Assertion : At temperature above 1073 K (approx.) the  line

comes below the  line  


Reason : In this range, coke will reduce the FeO and itself get oxidised

C, CO

Fe, FeO [ΔGC CO < ΔGFe FeO ]

https://dl.doubtnut.com/l/_LjcIZcR3zcLJ
https://dl.doubtnut.com/l/_6xTj42nitgXt


Level Iii Linked Comprehension Type

to CO. :
 If both (A) and (R) are correct and (R) is the correct

explanation of(A).,
 If both (A) and (R) are correct, but (R) is not the

correct explanation of (A).,
 If (A) is correct, but (R) is incorrect.,
 If both

(A) and (R) are incorrect.

A. Statement 1 is True, Statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6xTj42nitgXt
https://dl.doubtnut.com/l/_LMb17IdW8gBq


1. The Ellingham diagram for a number of metallic sulphides is shown

below. 

 


Formation of which of the sulphides is most spontaneous?

A. HgS

B. 

C. 

D. 

Answer: C

Watch Video Solution

Bi2S2

PbS

CS2

https://dl.doubtnut.com/l/_LMb17IdW8gBq


2. The Ellingham diagram for a number of metallic sulphides is shown

below. 

 

Which sulphide occurs to minimum extent in nature?

A. A) HgS

B. B) 

C. C) 

D. D) 

Answer: D

Watch Video Solution

H2S

Bi2S3

CS2

https://dl.doubtnut.com/l/_LMb17IdW8gBq
https://dl.doubtnut.com/l/_bJmv01UBofyv


3. The Ellingham diagram for a number of metallic sulphides is shown

below. 

 

Which of the following sulphides can not be reduced to metal by 

at about  ?

A. HgS

B. PbS

C. 

D. All of these

Answer: B

Watch Video Solution

H2

1000∘C

Bi2S3

https://dl.doubtnut.com/l/_bJmv01UBofyv
https://dl.doubtnut.com/l/_BXrAYHj06mIU


4. How does impure Ni is purified ?

A. Impure 

B. Impure 

C. Impure 

D. Impure 

Answer: D

Watch Video Solution

Ni + CO2 → NiCO3NiO + CO2Ni

Ni + CONi(CO)
6

→ gaseousNi(g) + CO(g) + Ni(s)pure

Ni + CONi(CO)
4

→ Ni(s) + CO(s)

Ni + CO → Ni(CO)
4
(g)

Δ
−−→ Ni(s) + CO(g)

5. In the purification of Zr and B, which of the following is/are true?

A.  the pure Zr is deposited on W

B. (g) the pure B is deposited on W

Zr + 2I2 → Zrl4(g)

2B + 2I2 → 2BI5

https://dl.doubtnut.com/l/_BXrAYHj06mIU
https://dl.doubtnut.com/l/_ay5sBIUSeYzW
https://dl.doubtnut.com/l/_fUCqOfXRb6ph


C.  is reduced to 

D. Both (A) and (B) are correct

Answer: D

Watch Video Solution

Zx + 2I2 → ZrI4(s)ZrI4 Zrl2

6. The heating process for the extraction of elements are quite old but

highly acceptable method for the extraction of elements. Because in

this process the elements produced is in the highly pure state. Mostly

 etc are prepared by this principle. 


A number of metal sulphide uses which may be roasted first in air to

partially convert them to the oxide, and then further roasted in the

absence of air, causing self reduction. 

A. Cus

B. PbS

C. FeS

As, Sb, N2Ni, Zr, B

https://dl.doubtnut.com/l/_fUCqOfXRb6ph
https://dl.doubtnut.com/l/_I70PsyEOmeLm


D. 

Answer: C

Watch Video Solution

Sb2S3

7. Copper is most noble of the first row transition metals and occurs

in small deposits in several countries.Ores of copper include

chalcanthite  atacamite , cuprite 

, copper glance  and malachite .

However, 80% of the world copper production comes from

chalcopyrite . The extraction fo copper from chalcopyrite

involves partial roasting, removal of iron and self reduction. 

Iron is removed from chalcopyrite as

A. 

B. 

C. 

(CuSO4, 5H2O) (Cu2Cl(OH)3)

(Cu2O) (Cu2S) (Cu2(OH)3CO3)

(CuFeS2)

Cu and FeO

Cu2O and FeO

Cus and Fe2O2

https://dl.doubtnut.com/l/_I70PsyEOmeLm
https://dl.doubtnut.com/l/_MxY7EQ9sOgv4


D. 

Answer: B

Watch Video Solution

Cu2O and Fe2O3

8. Copper is most noble of the first row transition metals and occurs

in small deposits in several countries.Ores of copper include

chalcanthite  atacamite , cuprite 

, copper glance  and malachite .

However, 80% of the world copper production comes from

chalcopyrite . The extraction fo copper from chalcopyrite

involves partial roasting, removal of iron and self reduction. 

Iron is removed from chalcopyrite as

A. FeO

B. 

C. 

(CuSO4, 5H2O) (Cu2Cl(OH)3)

(Cu2O) (Cu2S) (Cu2(OH)3CO3)

(CuFeS2)

FeS −

Fe2O3

https://dl.doubtnut.com/l/_MxY7EQ9sOgv4
https://dl.doubtnut.com/l/_zWp8vPG2jdng


D. 

Answer: D

Watch Video Solution

FeSiO3

9. Copper is most noble of the first row transition metals and occurs

in small deposits in several countries.Ores of copper include

chalcanthite  atacamite , cuprite 

, copper glance  and malachite .

However, 80% of the world copper production comes from

chalcopyrite . The extraction fo copper from chalcopyrite

involves partial roasting, removal of iron and self reduction. 

In self reduction , the reducing agent is

A. S

B. 

C. 

(CuSO4, 5H2O) (Cu2Cl(OH)3)

(Cu2O) (Cu2S) (Cu2(OH)3CO3)

(CuFeS2)

O− 2

S2 −

https://dl.doubtnut.com/l/_zWp8vPG2jdng
https://dl.doubtnut.com/l/_NHgjvkN6cOx3


D. 

Answer: C

Watch Video Solution

SO2

10. Extraction of aluminium be understood by : 

 


Electrolytic reduction  : 


Electrolyte :  


Carthode : Carbon inside the Fe container 

Anode : Graphite rods 

Coke powder is spread over the molten electrolyte to

A. Prevent the corrosion of graphite anode

Al2O3

Al2O3 + Cryolite + CaF2

https://dl.doubtnut.com/l/_NHgjvkN6cOx3
https://dl.doubtnut.com/l/_41wZxYed4WYh


B. Prevent the heat radiation from the surface

C. Prevent the oxidation of molten aluminium by air

D. Both (A) and (B)

Answer: D

Watch Video Solution

11. Extraction of aluminium be understood by : 

 


Electrolytic reduction  : 


Electrolyte :  


Carthode : Carbon inside the Fe container 

Al2O3

Al2O3 + Cryolite + CaF2

https://dl.doubtnut.com/l/_41wZxYed4WYh
https://dl.doubtnut.com/l/_IfBVcMlQ1gON


Anode : Graphite rods 

The function of fluorspar  is

A. To increase the melting point of eletrolyte

B. To increase electrolytic conductivity power

C. To remove the impurities as slag

D. All of these

Answer: B

Watch Video Solution

(CaF3)

12. Extraction of aluminium be understood by : 

 


Electrolytic reduction  : 
Al2O3

https://dl.doubtnut.com/l/_IfBVcMlQ1gON
https://dl.doubtnut.com/l/_nB5rIk7e732Q


Electrolyte :  


Carthode : Carbon inside the Fe container 

Anode : Graphite rods 

The molten electrolytes contain  but only Al

gets deposited at cathode because,

A. Standard reduction potential of Al is more than that of Na and

Ca

B. Standard oxidation potential of Al is more than that of Na and

Ca

C. Graphite reacts only with  and not withi  and 

D. Discharge potential of  is higher than  and 

Answer: A

Watch Video Solution

Al2O3 + Cryolite + CaF2

Na+ , Al3 + , andCa2 +

Al3 + Na+ Ca2 +

Al3 + Na+ Ca2 +

https://dl.doubtnut.com/l/_nB5rIk7e732Q

